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Time :

(@)
(ii)

2 Hours - Marks : 200
Instructions :

Each question carries one mark.

(D& (DF) 50 2,8 Sy

Choose the correct or most appropriate answer from the given options to the following questions
and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4 in the circle
pertaining to the question number concerned in the OMR Answer sheet, separately supplied to

you,

BIS BDIS DS HNH aSWAS T8 :::.o@;s DSFEFSIVD ISED D
JIrDOT &CE 1, 2, 3 B 4 I 2D IS OMR ISrerS eSS |H¥) HDoRsdo oo
tie> So0HHS EEX 27/2r 2 o0l DAY BDHTBEAOD AOHIBL.

7.

Which of the following statements is jncorrect regarding the usage of the article ?

(H

@)
(3)
4

Eight-year-old Roxy Getter is the youngest girl who climbed the Mount Kilimahjaro in
2017.

Raj : Have you got a cold ? Raghu : No, I’ve got the flu.

What a lovely dress !

Dr. Kalam was elected President in 2002.

Fill in the blanks using the correct preposition : -
Where did you come ?

)

for }7 from (3) * above 4) into

Fill in the blank with the appropriate verb form given below :
Raghu cricket when his friend went home yesterday.
(I)/ has played (2) is playing (3) isplayed ' (4) was playing

Fill in the blank with the correct verb form.,

French too well.

(_l? am not understanding (2) do not understand

3)

am not understand (4) do not understanding

Choose the grammatically correct sentence from the options given below :
(1)  Neither the teacher nor the students was present in the class.

(2)
€)
4)

Neither the teacher nor the students were present in the class.
Neither the teacher nor the students has present in the class.
Neither the teacher nor the students is present in the class.

Which of the following sentences has a subject that does not agree with the verb ?

(1)

Every shirt, tie and coat is marked for reduction sale.

(2) Neither our Accounts Department nor our Head Office have a record of the transaction.

G)
)

Excessive absences were the reason for his failure.
The committee has agreed to submit its report on Friday.

~ Pick the one word that gives the meaning of the follbwhg -

A large system consisting of many similar parts that are connected together.

(1)
3)

NETWORK {2) DISTRIBUTION
COMPUTER " (4) COMMUNICATION

2



10.

12.

Identity the correct passive form of the following sentence from the options given below :
*We would have painted the walls green.’
(1) The walls would have been painted green by us.
(2)  The green walls would have been painted by us.
(3)  The walls in green would be painted by us.
: ‘(9—}“ The green walls will have been painted by us.

Pick the option that gives the correct indirect form of the following sentence :
Direct : The politician said, “It gives me great pleasure to be here, this morning.”
Indirect : .

(1)  The politician said that it gave him great pleasure to be there that morning.
(2)  The politician said it gives me great pleasure to be there that morning.

{3)  The politician said that it gave him great pleasure to be here this morning.
(4) The politician said it gives me great pleasure to be there this morning.

The following sentence is in Direct Speech. Choose the correct option which expresses the same
sentence in Indirect Speech :

The spectators said, “Bravo | Well played, Sachin™.

(1) The spectators called Sachin. bravo because he had played well.
.(3) The spectators said that Sacl}in has played well,

(3)  The spectators encouraged Sachin saying that he played well.

(4)  The spectators applauded Sachin saying that he had played well,

In the following question. there are six sentences of a paragraph marked S1. $6. P. Q. R. S. The
positions of S1 and $6 are fixed. You are required to choose the most logical sequence of the
sentences that form the paragraph :

S1: Proverbs contain homely but universal truths.

P:  Some of them point out the incongruities of situations in life.

Q: Naturally, they are translatable from one language to another.

R:  Therefore. their appeal is direct to anyone.

S:  Many of them had their birth in folk literature.

S6: They are everyman’s philosophy.

(1) QPRS (2) QSPR (3) PSRQ (4) - SPQR

Choose the correct option which expresses the following sentence in passive voice :
Do you imitate others ?

(1) Are others imitated by you ? (2)  Are others being imitated by you ?
(3)  Were others imitated by you ? {4)~ Have others are imitated by you ?

[Ppc-Gsi]



13.  In the following question, there are six sentences of a paragraph marked SI, _$6, P, Q. R, S. The
positions of S1 and S6 are fixed. You are required to choose the most logical sequence of the
sentences that form the paragraph :

S1: There are divergent theories of education.

P:  There is still another which holds that education has to be considered rather in relation to
community than to the other,

Q: Yet, again some believe that a right proportion of all the theories should go into every
system. :

R:  The other holds that the purpose of education is to impart culture.

S: The first considers that the sole purpose of education is to provide opportunities for
growth.

$6: No actual education proceeds wholly and completely on any one of the theories.
(I) PQRS (2) PQSR (3) RPQ (4) SQPR

Read the following passage and answer the questions (from 14 to 16) that follow : -

Insect behaviour generally appears to be explicable in terms of unconscious, inflexible stimulus-
response mechanisms. For instance, a female sphex wasp leaves her egg sealed in a burrow alongside a
paralyzed grasshopper, which her larvae can eat upon hatching. Before she deposits the étasshom in
the burrow, she inspects the burrow; if the inspection reveals no problems, she drags the grasshopper
inside by its antennae. As thoughtful as this behaviour appears, it reveals its mechanistic character upon
interference. Darwin discovered that prior removal of the grasshopper’s antennae prevents the wasp
from depositing the grasshopper, even though the legs or ovipositor could also serve as handles.
Likewise, Fabre moved the grasshopper a few centimeters away from the burrow’s mouth while the
wasp was inside inspecting. The wasp returned the grasshopper to the edge of the burrow and then
began a new inspection. Fabre performed this disruptive maneuver forty times; the wasp’s response
never changed.

14.  The author mentions the v;rork of Darwin and Fabre in order to
(1) provide experimental evidence of the inflexibility of one kind of insect behaviour.
(2) contradict the conventional wisdom about “typical” wasj:l behaviour.
3) illustrate the strength of the wasp’s maternal affection.

(4) explore the logical implications of the thesis articulated earlier.

PPC-GSI



15.  Which of the following statements is not true according to the passage ?
(1)  Darwin restrains the grasshopper while the wasp attempts to drag it by its antennae, which
subsequently break off.
(2)  Darwin releases the grasshopper but the wasp ignores it.
(3)  The wasp takes significant time to retrieve the grasshopper, then re-inspects the burrow.
(4)  The wasp instantly brings the grasshopper and moves into the burrow.
16. Tﬁe primary purpose of the passage is to
(1)  argue that insects are not unique in their dependence on rigid routines.
(2)  argue that insect behaviour relies on rigid routines which appear to be unconscious.
(3) analyze the maternal behaviour of wasps.
(4) compare and contrast the work of Darwin and Fabre.
17.  Which of the following is the antonym of the underlined wc_:nrd in the sentence ‘1 made somc.
success, and the students had a predilection for me.’ ?
(1) Fondness (2) Inclination
(3) Disinclination (4) Predisposition
18. Which of the following words is correctly spelt ?
(1) Liason : (2) Irresistable
(3)  Fluorescent | (4) Farenheit
19.  What is the best explanation of the expression “It’s raining cats and dogs” ?
It means that
(1) cats and dogs do not enjoy rain. {(2) it can never rain cats and dogs
(3) cats and dogs enjoy the rain (4) it is raining heavily
20.  Choose the correct option that conveys the same meaning as the underlined word in the following
sentence : '
Many cities were incinerated during the war.
(1) traumatized (2) burnt (3) shocked (4) prohibited
PPC-GS1
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21.  Consider the following statements _
(A)  The number of ordered pairs of positive integers (m, n) such that m + n= 648 and g.c.d. of
(m.n)=27is 8.
(B)  If the number v is of the formyx = 48m + 39 for some positive integer m, then the remainder
when x is divided by 8 is 1.
Select the correct option among the following :
(1) Both (A)and (B) are true. ©(2) Only (A)is true.
(3) Only(B)istrue. (4) Both (A) and (B) are faise.
1808 (DSVT O Koo :
(A)  m+n =648 O K2 (m. n) =27 @3DHER0T SSFT oS (Z0aS0ren (m.
n) © QOPS 8. ,
(B) 2.8 &353°Z080 m Ho x = 48m + 39 &rd0S GoB ¥ D 8 T AN ST 3320 1.
180d 2D )eS HBIS oo :
() (A), (B) o Bodr debg0 Q) (A) Sesd desg0
(3)  (B) A Dedso (4) (A (B) e Bodr @d¢so
2. The radius °r* of a circle and the side a of ‘a square are such that r: a =3 : 2\/p. If s is the area of
the square then the area of the circle is
2.8 S9& FYO 1. 2.5 BRI Zhzo a ev rra=3: 2\fp T Gy ow. & SSEDO
BTO30 s WANS Iy STes0
9 s
(1) 2s\p @) s 3) 2s @ 3
23. H3r=2y+5zand3y=4x+z thenx:y:z=
3x=2y+ 5200w 3y =4r+zeo0n@x:y:z=
M 17:13:11 9)/23:17:1 (3) 11:13:17 @ 17:23:1
24, 1f 8% of 7% of 5% of x is 105 then the value of x in lakhs is
x 3308 5% Ty 7% By 8% 6T 105 ©ond @)1 x Densd oi &
(y 3.75 2) 0375 5}'{ 0.0375 (4) 0.00375
1 | 12
25, 2+‘\J§+2+ﬁ+ﬁ_:+ 4-|'.2—5=
~ 3 2
(1) 036 @) 36 G) "55“’: ) Eﬁ-;o—’j:
PPC-GSI1



26.

27.

28.

29,

The average age of a group of x students is 16 years. If m students each of age 15 years is added
to this group then the new average is 15.8 years. Then what percent of x is m ?

x D0 DoPen o) 28 BTTEY DTN S0 16 D05 07D, & dSrTroS s
D8 2,88 15 Sode yorew SODDA) m Do dTrsPoH TEIT IFS Jo°KO 15.8
D0SSITen. ) x &S m TS0 oS ?

(n 15 2) 20 3 25 (4) 30

The average height of 25 students out of 40 students in a class is 163 cm and the average height

. of the remaining students is 169 cm. Then the average height of the students in that class, in cm,

is
40 08 doryPeniie 2.8 S8KaS 25 éood‘: :)c:';@e.: QLD B 163 0.4, DO

WAOS Dersho JEen B 169 0.5, ) & SSES S Dershe ey I,
0., o

(1) 164.75 (2) 16525 (3) 165.75 4) 16625

If a person purchases pens at the rate of 16 pens for ¥ 200 and sells them at the rate of 12 penscfg:
% 160, then the profit/loss percent is -

40 6%% profit (2) 13%% profit
1
3) 6%% loss (4) 13'% loss

a8 358 200 SrraHedd 16 DS N TS § 160 C&:‘i‘rdi}os'w 12 200 §'H)S
OB, @) /SR TS0

(1) 65% er#8o ) 13%% ergso
(3) 6%% &SRO 4) 13%% dQO

The rate of income tax is reduced to 14%% from 19%. If a person’s taxable income is ¥ 3,20,000,

then the tax benefit, in rupees, is
BIahs Sy Ben 19% $Hod 14%% 8 S0S0. 28 358 D) BOOSEH ecr0Ho

&> 3,20,000 &0 o8 S0 & e, Srarahed’
(1) 14,400 (2) 1,440 3) 16,000 4@ 1,600

PC-GS1



30,

31.

32.

10 men and 15 women can complete a work in 6 days. 12 men and 27 women can compiete the

same work in 4 days. Then the number of days required for 2 men and 12 women to complete the

same work is

2.8 DD 10 06 HOWEN, 15 08 [New OV 6 T’ 330 Fobiteod. B HAD 12

2008 DO 27 08 (Hew 2O 4 FarS I3rd Tobiedh. Y o8 HIJD PSH

HEven, 12 508 |New £V 30 Shads B Sare dowg |
(M 12 @) 10 3) 9 4 8

-

4 men and 5 women in 6 days can earn ¥ 10,650 while 6 men and 4 women in 4 days can earn
¢ 8,200. Then the amount (in rupees) earned by 5 men and 10 women in 3 days, is

4 H% 0D HOCKD 5 HED (Ve 6 TS & 10,650 €0 HOTET . eert 6 H

HBIED 4 HS (New 4 TS’ & 8,200 e HoJOTE. @I 5 H IS
208050 10 508 (He 3 Farer HoSS Srarane
() 8750 - (2) 16900 (3) 8625 @) 16225

Suppose some principal amount P is given at r % simple inte.mst'per annum for a period of 12
years to get an amount A. Match the following :

oS WL P &0 D0SSIESNSE 1 % FS;Ss SGE AT 12 HoSSHo O DS
S350 IS0 ‘A’ @0500. §0H T8 BSDEN0A.

List -V 2»wr -1 List - I/ 2w - 11
(Amount) / (30e60) (A) (Rate of Interest) (5& Bex) (1)
i 2P ) %

i, %F-' b. 6%
iii. % c 8%
iv. % d. 4%

The correct answer is / DOTS NITFTTR) dothfod

i ii iti iv

M ¢ d b a
@ c b
3y ¢ b
@ ¢ b a

PPC-GS1



33.

34.

The graph given below. shows the production of wheat in different years in millions of tons. The
percentage increase of production of wheat in the year 2017 over the year 2015 is

BHS BDIS Byr H&0S IS HosS oS s @SB OAHS ddyos
Qi )&.

2015 HOSS 50 L) 2017 % HoSS )50 Bed 1B DHH GO FT*S0

_ 18t

3

Q 164.

=

2

< 141

=

=

2

a 121

2015 2016 2017 2018
Year (oS yo)
2 2 4 1

(1) 143 2) 22; 3) 283 @ I
If the number 6653A321 is divisible by 11 then A=
11 3 6653A321 2rA0J0AS e A =
(n 1 ) 0 3) 2 @ 4

P and Q started a business together with an initial investment in the ratio 3 : 2. P invested for 8

months but Q for less time. They shared their profits in the ratio 2 : 1. Then for how many
months did Q invest ?

P 000 Q 502 3 : 2 9ABS 1EP2ADE 2.8 TR [DSoDomrd. & e
P, 8 Joen Godm, Q ®0d 50D S503d NDOHO B, T0HHS ergred 2 : |

D2IBS’ HoHHOTTYH. ©HIH Q DEPAAR TEFB0S TSI NODS 500 A Foen ?
(n 3 9)’ 4 3 6 @ 7

5 trains A. B, C, D, E respectively running with speeds 50 kmph, 45 kmph, 40 kmph, 35 kmph,
30 kmph have to travel 120 km, 105 km, 100 km, 85 km, 80 km to réach their destinations
respectively. Then the train that takes least time to reach its destination is

SEXM KOS 50 8.0, 45 8.2, 40 8.2, 35 8.0, 30 £.2. IK0S HBRSSN) 0 TW
A, B, C, D, E ed a¢3 fisg raren SHESTRE SO 120 8.5, 105 8.2, 100 8.2, 85
820, 80 8. WArHomrd. 83 HNFTI0 THEITIE es0d $¥oyd Jaaho
BFF Bew

(N A 2) B 3 C (4 E

PPC-GS1

S

sor g



37.

41.

If 25% of x is equal to IS%ofyaswellasl&%ofzthenx:y:z=
¥ & 25%,y S 15% & mose z S 10% EJ8rSB, x:y: z=
() 6:10:15 ) 3:5:15 3) 12:10:15 4 6:10:5

By selling an article for ¥ 1,403, a trader gets a profit of 15%. The cost price of the article, in
rupees, is

28 SNYD & 1,403 & B 2.8 SEH8 15% ergio 30, e Sy &%) e
Eryraved’ :

(I 1350 (2) 1310 3) 1270 (4) 1220

If the cost price of 24 pens is equal to the selling price of 20 pens of the same kind, then the
outcome of this transaction is

(1) 24%profit  (2) 24% loss (3)  20% profit (4)  20% loss
24 D0 © 5 $6, &3 350 20 Doy © 2350283y S88 SSTrSDSB, & erBHS' STHd
24% exr350 (2) 24% S0 (3) 20% o 4)  20% Yo o5

A person A, can complete a piece of work in x days and another person B requires 2x days to
finish the same work. If both work together they can finish the work in 14 days, then x =

28 DD A oF 58 x S’ 0 BoHerd HBA K& 358 B o 2x B’ 50
DADHOR. A, B e» 2IS 50D ST &8 539 14 S’ 538 IR, o) x=

(n 18 2 20 3) 21 4 24

The following table gives the number of students who appeared and qualified in the Mathematics
Olympiad in the southem states :

Appeared Qualified
Telangana 740 60
Andhra Pradesh 800 65
Karnataka 840 70
Kerala 700 55
Tamil Nadu 775 62 .
Then the state with the highest percentage of qualified candidates is
(1) Karnataka (2) Telangana (3) Kerala (4) Tamil Nadu

SL70 T FOS' 38 2.D00aTES Srabans, 0 adoans dersde B0
& 1508 HEES’ aer )&
&

StBond S a8HeonsS I
Boors ' 740 ‘ 60
SOSINTS 800 65
§greos 840 70
36¢ 700 55
ST 775 62
DI BSOS TS0 GBPeoS BSiPHen fo o0
() 3Sges (2) 8oomrs 3) 3s8¢ 4) S¥>SH

10



Two numbers when divided by d leave respective remainders 4 and 3. If their sum is divided by d
the remainder is 1, then d =

Boch HoPIODN d & 2rfod™ SHI™ Fren 4, 3 FTOD. FEINER) d & rhodr
STJ 300 | ©ond, @y d=

(n 7 (2) 6 3) 5 4 1
- . 121 e : 3

In the decimal representation of 185 the digit in 1000™ decimal piace is

121 o

185 308 §70% &rHoS’ 1000 S S7°0F S0 S'Q e

H 6 2 5 3) 4 4 0

3
Ifa= %. b= 3 then match the following :

List -1 List—Ii
2Der-1 Do -11
1 1 1744
A 3%y P 3
. 52
B. a¢+b-= =
ST
L1 109
« e R N
a b 109 :
D. pta” S 64 .
The correct answer is / OB Qadreraisdn
A B C D
() P S Q R
Q) Q R S P
3 P R S Q
@ Q@ S P R

If 397246 is divided by K the quotient is 865 and the remainder is 211 then K =
397246 S K & 2rBowdr 2553w 865. 320 211 SR 03¢0 K =
() 363 2) 379 3) 437 @) 459

L
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47.

Read the following statements :
a.  Biofertilizers synthesize nutrients from environment and soil.
b.  Deep litter is an example of concentrated organic manure.

c.  Application of potassium to crops enhances resistance towards dlsease causing pests.
Which of the above statements is/are correct ?

(1) aandb (2) bandc (3) aandc (4) bonly
5 180D |DSVITOD BS08
. ASS ABeyen, DTSSR0 HOAN T Hod FATODH SSr T ow.
b. S @ol Ik eSfren oo 3'0{_656&‘ 5B oIOC/ES)S (organic)

RN

C.  JOHOH FEracho wodTohdo IQ T sz K& 8 IFNES 0
DSOS,

D DSVTOS O/DD HBTSD ?

(1) aBosob . (2) bXOSwec

(3) aSdoo ¢ | (4) bIMSD

Match the following food materials with the predominant organic acids they contain :

List-1 List - 11

(Food Material) _ (Predominant carboxylic acid)
a.  Apple fruit i.  Tartaric acid
b.  Spinach leaves il.  Ascorbic acid
¢.  Tamarind fruit iii. Malic acid
d.  Amla fruit iv. oxalic acid
1808 &858 PTOD, ®0BS |DTSomr Ko £5)8 BRI BSIEHIY

Do -1 Do - 11
(838 Hordo) (DTS 5007818 o)
DS Ho g i. &rgos edo

a

b. JoErS i e 0)8 esado
c. Dosdodk i SO eo

d ad8sad v, eydseso
The correct answer is : / SO NGO :

a b c d
W v i i
@ i i v i
@ @ i v i
@ i v i

PPC-GS1
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4%,:Q Indicate the alkaloid employed to control high blood pressure :

49,

50.

51.

(1) Quinine (2) Caffeine

(3) Reserpine (4) Nicotine

©HE BEFEND AOHOIBOBETRE BITIrA0ET e eronlicd HBoHSW.
() 8BS () sDS

(3) BIBIS 9) '3 S

Light regulates the pattern of growth in plants. If a potted plant is placed in a window after few
days, it exhibits a bending towards the direction where sunlight is present during day. This
pattern of growth is called as :

(1) Phototropic movement (2) Phototactic movement
(3) Photonastic movement 4 Photoperiodism'

508 e DEHHS® 88 AALOIBN0B. 088" DHHSS), JnEd o8 §e38S’
A8, ) Fzre Sovged @ By HBPEL Irdisod Gol (DBF0 BIR Soh
REHHOE. & BEOMT DEHETV) DeDOEFS ?

(1) 508 80383 SOS0 Qr 508 X500
(3) 508 8BNS S0 4) 08 SN

Name the acid present in vinegar which is widely used as preservative in pickles :

(1) Acetic acid (2) Lactic acid (3)' Formic acid (4) Tartaric acid
D5)¢09 (Pickles) NS GoBErd NBST 3 :};a::‘_ry_@é‘ SOT e300 DO ?

(¥ ESE esaadn | 2) | 88 essdSn

3) 08 sV : 4) ergrof edin

Kidney transplantation is the best solution for acute renal failure. The first kidney transplantation
was done in India at which of the following hospitals ?

(1) AIIMS, New Delhi (2) CMC, Vellore
(3) NIMS, Hyderabad (4) Jaslok Hospital, Mumbai

Méﬁiowm O TAFNXIE, TR 350 )A THB0 HOTS D8S). Rodcirs’
BSBIOT Sarddhorre Srd)A |8odke & BEsTesS 88808 ?

(1) 589 (29.0.0000) Q) 3ers (D.d0.2)
(?)/ FSoS (Ae)) (4) 285 3OS, SwoB

PPC-GS1 13



Match the following :

~ List-1 List - 11
a. . Shrillness of Sound i Intensity
b.  Audible limit il.  Decibel
c.  Amplitude ' iii. 20 Hz- 20000 Hz
d.  Unit of sound encrgy iv. Pitch
(508 &30 28580 :

2Dor-1 2>Der-11
a. 89 §e0es5sm i SIS
b. 335 @38 il BABS
¢ 50D HOLS 7 T i 20 rReS - 20000 2PeF
d. &3 DSresn iv. S
The correct answer is : SO DIFLTIO

a b ¢ d

(i iv i i
Q@ v iii i ii
3 i ii iii iv
(CINT i iv iii

Assertion (A):  When a carpet is beaten with a stick, dust comes out. .

Reason (R) : Inertia is,a property of matter that resists changes in its state of motion or fest.
The correct answer is : ‘ '

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A),

(3)  Both (A) and (R) are correct but (R) is not the correct explanation of (A). .

(3)  (A)is correct but (R) is not correct.

(4} (A)is not correct but (R) is correct.

DBWESS (A): 28 S00? BT KBS FESHB So0) HAHEE S08.

58690 (R) : A0S PBS” MR, Mo PBS’ M PHo) S 3 HAS SB35
S3BTEOT BT, 2365 50 ©OETED.

QEDS DIrGed0 : _ .
(1 (A) 80 (R) Bodr HOTSD, 8% (A) & (R) BB B¢,
(@) (A) DO (R) Bodhr SOOI, SR (A) &0 (R) HODS DS 5°C%0.
() (A QOJIE, 5% (R) HOBOXA s°¢%.
) (A) QOIS 2%, A (R) HOTBXA.

PPC-GSI
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5S.

57.

The em;,rgy possessed by a body by virtue of motion is

(1) Potential energy (2) Kinetic energy

(3) Attractive energy (4) Gravitational energy
SeDeY O350 S5 DT 480 ) @0erSd ?

(1) 8=48 (2) e ¥8

3 es5Qe 48 4) HSer 8l 38
The mirror used by a dentist is :

(1) Plane mirror _ (2) Convex mirror

(3) Concave mirror (4) Cylindrical mirror
S0 Fo3% SOTrNOT S8 S ¢

n 5&&)&@ faTo R AW (2) 5007sS S8 He8w
{':iy BT e TaTa AT IN Y 4) PrrsS SE e

Biodegradable polymer among the following is

(1) Nylon6 (2) Terylene
(3) Nyloné6, 6 ' (4) PHBV
806 a'eSS‘ B5§ argyed IOE A8 ?

(1) Berde : 2) 658

(3) Terse6,6 4 DISDD

Mirage is the best example for which of the following phenomenon ?
(1) Reflection (2) Refraction

(3) Total internal reflection (4) Multiple reflection
& 808 (HIB0HOS’ IB N0BSTDE 28 HOD GTHTSED ?

(1) SoS8s8w 2) S8
3) HOFFTOSE HTESSM (4) 20 HOBEBID
[A] PPC-GS1 15



59.

&

61.

62.

Which one of the following is used predominantly in making aeroplanes ?

(1) Duralumin (2) German Silver

(3) Gun metai (4) Invar

1806 S BA HESOr DIrTre SoSrES” aHTraDE ?
() GrsoreniS C(2) 2388 deosd

9 ) e Deod 4) a5

The bulbs used in green houses are made of :

(1Y Neon (2) Nitrogen
(3) Xenon (4) Krypton
T g’ o8 wevyod I8 Saird T ?
() oS 2 JS=S
3 Q=S @ &S
The property of metals by which they can be beaten into thin sheets is called
(1)  Malleability _ (2) Ductility
(3)  Conductivity (4) Sonorous i’ropeny
ST FF Decsed Bvenr 508 S0 & DS e0tr.
(N SrdDdes () &3O
¥ 4) FSER B30

The gas used as fire extinguisher is :
(1) Carbon dioxide (2) Carbon monoxide

(3) Nitric oxide (4) Sulphur dioxide
) SrdE0mT T TN 808 TS DB 2

(1) S Be3)S (2 5°8)S 36
(3) BedSe3)8 4 J0)5B e

Due to its very low solubility in blood. which one of the following is mixed with 20% oxygen
and supplied to deep sea divers :

(1) nitrogen (2) helium

(3) hydrogen (4) argon .

5308" @8 #5038 |TSS0HS 50N &Sy BB, Sob TS FDD 20% e38yzSS
50D S0 S'Sred IF) LSS ©odT S :

() BS=S Q) SOcHS

G E=S @) o]
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63.

65.

Read the following statements :

a. Membrane bound nucleus is absent in cyanobacteria.

b.  Ribosomes are associated with photorespiration.

c.  Nerve cells do not have the ability to regenerate

Which of the above statements is/are correct ?

(1) aandb (2) aandc (3) bandc (4) conly
1BOA (0052552000 TIEHW :

DD 2r§OSrsS” ST E5 08 Sod¥0 SO,
BE FDoen 5208 F5HEADSE Ho00o $ON Gotrom.
A SeTeon DI ) eddhs F0PL0 GoS.

D DISTOS’ JO/AD HOTID ?

(" adakn b (2) addalwe
(3) b&Bawec 4) cISD

e o

Read the following statements : _
a.  Plants require zinc as micronutrient.

b.  Sunhemp is an example of green manure.
B The process in which one crop is followed by another crop on an agricultural field is called
‘ mixed cropping’. ’
. Which of the above statements is/are correct ?
(1) aandb (2) bandc
(3) aandc (4) conly
1808 (63T THEIHed.

a. 0§l 208 30§ SA%0.

b. 2080 DD T ePHF0 2.8 SIS

¢ 2.8 D00S 2.& BEDS H0e i TOS S0 g IV BEPS Do i BHE
‘DFD HDoLY woer.

D DSBTOS’ AE/RD HOTHSD ?

(1) aS8ckn b (2) bNBNSw e

(3) ad8cwe . @) ¢ SMSD

A flower having calyx, corolla, androecium and gynoecium is called ‘complete flower’. If any of
these whorls is missing, then such flower is regarded as ‘incomplete flower’. Identify from the
following an incomplete flower :

(1) Hibiscus (2) Datura (3) Papaya (4) Cotton

BEE HErs®, eiln JESP, oD, wodsHo OAS PADAY ‘Doird HDYO’
0T, NPT VIOONO GOBENE ENI0e3 Jar)HR), ‘©I0F R A0’ ©0odrd. &
1808 836’ D0 HarIN) HBotsod.

1) Soord (y&:ﬁzé 3) &ryow 4 38

PPC-GS1 17



67.

Which movement during freedom struggle came to a sudden end with the Chauri Chaura
incident ?

(1) Home Rule Agitation (2) Non-Co-operation Movement
(3)  Sait Satyagraha (4)  Quit India Movement
F0 I8 S0SI0S 8018 HHE0STD D BO500 aYS) EPOA BAFANOA 2
(1) DB &Ssd0 (2 DD o85S 800
() &H) Jmgisro @/ 8565 20805 &80

Dharmapala, the head of the famous Nalanda University during the period of the Guptas, hailed
from which of the following cities ?

(1) Benaras (2) Mathura

(3) Nasik (4) Kanchipuram :

Do HoTFror soos Iobs (D85S S0 D5 DrsedrdE wasan AT
PEITO JSHTRE BoAS ety ? T

() BosD 2) HGS
(B) oS (@) so0dHBo
Match the following ancient scientists with their works :
List-I (Ancient Scientists) List-II (Works).
a. Palakapya i.  Brihatsamhita
b. Patanjali ii. Hastyayurveda
¢. Vagbhatta iii. Yogasutra
d. Varahamihira iv. Ashtanga Samgraha
$oS 235288 DS T HBSer 6 B3SO 2S$HEK0Sm.
B Der-1 (DS w ST en) 2 Der-11 (SeseSen)
a. desg L1 D5S Holres
b. Jboad i e ycind s
c. 03 il GBS Al
d. SoHirs iv. eaPol Hosr

The correct answer is : / SO HSTCIO -
a b c d

(M v di i i

(@ i i i iy

@ i i

@ i v ii

In which of the following movements, Annie Besant actively participated ?

(1) Non-Co-operation Movement (2) Salt Satyagraha

(3)  Home Rule Agitation (4)  Quit India Movement
©ID0D 1§06  BS500S WO SHHSor DT 2

(1) D dorss8e5% 580 2 &) Seegisro

(B) Fodrd aBss0 @ 838 20808 &0
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70.

71

Match the following dynasties with their capitals.

Liqt-l (dynasties) List-1I (Capitals)
a. Imad Shahis i.  Bijapur
b. Adil Shahis : ii. Golconda
_¢. Barid Shahis | iii. Berar §)
d. Qutub Shahis iv. Bidar
e. Nizam- Shahis v. Ahmadnagar

1808 T"BI07eN T8 TBFTOHOS BSHSTLIY.
aDer-1 (Soren) aDer-1l (U'&Q‘M)
a. adrs riren i Db
b. ©&S riren i. Ao
c. 268 drdren / iii. Hob
d. oS .‘l“d‘m/ iv. DS
e. 20 ared V. eI08 K6
The correct answer is : QOPOS :(a.arc;‘éo :

a b c d e

(_p/iiii iv i v

2y it v i iv il
3) v i v i il
4 i v @i ov i

Name the Chinese traveller who visited India during the period of Chandra Gupta II.

(1) Huien Tsang (2) Itsing

(3) FaHien (4) LaPing

BO&S 50IS B FOT 500 ZrESBTR) H0O0DS T AATMBEE IS ?

(y TVOHE & )of (2) a8)ofl

3) FoADS @ e dof

PPC-GSI1
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72.

73.

74.

Who among the following was the founder of the Mohammadan Anglo Oriental College in
Aligarh ?

(1) Muhammad Ali Jinnah (2) Maulvi Chirag Ali .
(3)  Sir Syed Ahmed Khan (4) Mirza Ghulam Ahmed
0IEES’ DHS08S Woff 5,80%06:8 se52 P HODSE DSS ?

(D Drd s ed 2xr) () OO esd

[ 8 DADE 95708 g @ P e oS

Assertion (A) : After the Revolt of 1857 was put down, the British were particularly hard on the
Muslims. .

Reason (R) : The British came to the conclusion that the Great Revolt was led by Muslims and
that they were mainly responsible for it.

Correct answer is :

(1) Both A and R are true and R is the correct explanation for A.

(2) Both A and R are true, but R is not the correct explanation of A.

(3) Aistrue, but R is false.

(4)  Ais false, but R is true. _

(DBJSS (A): 1857 Botherendd eofd) I So7seb (DeS TS Swggorr swdoe
I EBSorr 1H30008. '

$8W0 (R) : SSherens Sodoew TODESI0 SFOTE, I IMSDH (D
S*HHO (D % AP Ser 3.

QOPS DI erS0 :

(1) (A) 005w (R) Bodir HOSD, SH60% (A) & (R) DOToed DS Sea.

@ (A) S8 (R) Bodkor 5O, 360K (A) B0 (R) DO DISe0 5°0,

B)  (A) SBQAE, 5 (R) SOTIA 5°¢%.

@) (A) SODSS 57, 50 (R) QOPDIA.

Name the Governor ~ General who for the first time introduced Civil Services in India.

(1) 7Wlarren Hastings (2) Lord Comnwallis

(3) Lord Wellesley (4) Lord Dalhousie

rESBIOS" BAS H85H% JoLTnsey (OB K318 23956 DSy 2
() 58 %ryoly 2 B 558 d%

3 of3IeR @) oRET




75.  Which among the following animals was not represented in the Ashokan Pillar ?

(1) Horse (2) Bull
(3) Elephant (4 Deer
11808 DYDY BOSHIOS DA @35 JrHoS EADOTHE ?
W dBo @ 2

B) A 4) 208

76.  Which Delhi Sultan was the first to participate in the celebrations of Holi Festival ?

(1) Ghiyasuddin Tughlaq (2) Mohammad Bin Tughlaq
(3)  Firoz Shah Tughlaq (4) Mahmud Tughlaq
0D Dol SEed’ TSy Jude & wes 2382

(1) AOSRNOS il Q) I8 -5)5 S8
(3) FF xr K4S (4) 58 &S

77.  Who among the following does not belong to the Bhakti movement ?
(1) Sankaracharya (2) Ramanujacharya
(3) Vallabhacharya (4) Srikantacharya
1808 508" 458 &S50’ 502085 B DS ?

(1) Fosorordy (2) oTdrdverardy
(3)  SpIrords _(#y Booords

78.  The famous Sanskrit scholar Max Muller who translated Vedas into English belonged to which

country by birth ?

(1) England (2) Germany

(3) France (4) United States of America

Jrod SoTAE DSAONS (DG H0DFIS HOBSE S8 SNOB 2888t 2 B8
BoBS e ? L

(1) =oTodk 2 =5

(B) @S (4) &Os SockwE T aren

PPC-GS1



Who among the following had started ‘Sharada Sadan’ a school for widows ?
(1) Kandukuri Veeresalingam (2) Pandita Rama Bai
(3) DK. Karve (4) Savitri Bai Phule

6800 VS’ DSo9e 28 ‘TED IS S BrE0DODITIS 2

- (1) %o&&rd HB¥doko (2) Dode S eron
(3)/ A8 .50y @ V8 o IS

80.  Arrange the following Dethi Sultanate dynasties in their chronological order :
a. Lodi b.  Khilji
c.  Slaves d.  Tughlaq

1800 B9 P JoTo 8 HOFerTr SOE0S 508 350,

a &4 b.  Hd
@ c. VD d &S

(1) cabd @Y cbda

(3) a,db,c 4 d,cab

81.  Who among the following leaders raised the slogan ‘Inquilab Zindabad’ 9
(1)  Chandra Sekhar Azad (2) Bhagat Singh

(3)  Subhash Chandra Bose - (4) Sukh Dev
‘B85S 2oorS’ ©F o) BIVBS TODHES DSE ?
(1) Sodipd ss (2) 58 dok

: 93/ AZFR BSo(BSD 4 PTI

PPC-GS1 2
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During whose reign, the Persian envoy Abdur Razak visited Vijayanagar empire ?
(1)  SriKrishna Deva Raya (2) DevaRayall
(3) Saluva Narasimha (4) Sadasiva Rayalu

S0 ooherd ©PB SrE N0 HOFOT seS DBADSHS a‘ﬁ'@’n"a;{mc‘{n
HD0KBBTH ?

9, BE9D BSorahen i (2) BodsS BSorahen
3) A0S SBvoS (4) So3S orobewn

Who was designated as Sadr-us-Sudur during Mughal administration ?

(1)  The chief of the army (2) The chief letter writer ‘
(3) The chief civil judge (4) The seal keeper

Bfiene HoTOSS” BB G WS ©F H50 I3 ?

() DR (2) aSoren OToh ©OHD

G BESHIS AT RHD @) CEiNS fomd

Who among the following introduced the Dual government in Bengal ?

(1) Warren Hastings (2) Robert Clive
(3) Wellesley (4) Cornwallis
Borrend’ & 085 IBJ OS5 1DFF DS BIS ?
0 88 2rRoly 2) T3S
@ 390 @ 5 >d®
85. Name the Delhi sultan who introduced the system of Suda (prostration) and Paibos (kissing the
feet of the monarch).
(I) Ala-ud-din Khilji _ (2) - Muhammad-bin-Tughlaq
(3) Ibrahim Lodi (4) Ghias-ud-din Balban
S (ol 1 Rerddn) DR (c"aa’ FOOD QHL) S08 Jdodorairesd
19352833 B 07D IS ?
W oTads L) (2) T35 DS Soifs
(3) =éroSA @ WOSTNES 2re)S
PPC-GS1 5



@ The new alluvium soil of the Gangetic Plain is called as -

87.

89.

(1) Tarai (2) Bhabar
(3) Bhangar (4  Khadar
forr DorSoS’ £ 2.01ch Fos HH -

(1) Boow | | 2 >ab
3) aroib 4) b

Which one of the following states has the highest concentration of laterite soils ?

(1) Gujarat (2) Rajasthan

(3) Odisha 4) Jammu & Ka.;hmir

808 D88) oS’ ererdeS Foren w&sd3orr 308580 TodS [0 DA ?
W taos ) oS

3) 20 (4) 2502 SHOCH S

The Human Development Index (HDI) rank of India for the year 2016 and 2017 respectively as
per UNDP.

(1) 132and 133 (2) " 129 and 130
(3) 132and 130 (4) 131and 130

TESTHO T8y SIS Ko (HDID Tk (B3 2016 5B 2017 HoSes Yoo
ST (CI0.DS.B.5. o 50 :

(1) 132 2605 133 (2) 129 %605 130
3 132 5580 130 (4) 131 580 130

Matatilla Project was built on which of the following rivers ?

(1) Mahanadi (2) Kosi
(3) Betwa (4) Damodar
DSBQ (B D SO DB0SDAIS ?
ol
(D) DS (2 §D
(3) FBerg @) o3rss

PPC-GS1



9.

9.

3

Identify the correct descending order of density of the population of below given states as per
2011 Census.

(1) Bihar, Kerala, West Bengal, U.P. (2) West Bengal, Bihar, Kerala, U.P.
(3) Bihar, Kerala, U.P., West Bengal ~ (4) Bihar, West Bengal, Kerala, U.P,

808 oS, 2011 2T BHO (HTE0 VAT TS 2T FOSSOD IETH
1850’ HBokoA.

(1) DS, 36¢, H3)5 Bors, SSHTBT
(2) 5 Borrd, HF&, 8¢, aSSHTF
(3) DD, 8¢, ASENTE, H3 BorrdS
W DI, 5330 Bord, T8¢, GSEHTE

Which state in India first introduced the Midday Meal Scheme for Government School -childrcn 7
(1) Maharashtra | (2) Tamil Nadu

(3) Kerala (4) Andhra Pradesh

PESTEnS’ D o RIW 1HEDS S FETOS IAF DVOK BSST ey SBS
NHEIDD ErE0DONIE ?

(1) SSovR O S
3) 3¢ (4) oI BNBT

Which one of the following is not included in the Right to Equality under the constitution ?

(1)  Social equality : (2) Abolition of titles
(3) Abolition of untouchability (4) Economic equality
0" 300 [DSE0 DSTSS 553 50 27HSD TRA A 2
(1) DIrBE HIFSS g5 (2) Do 5K
O wotodssin 5% @) 0% B3PS 55
Which of the following district falls under Central Telangana Agro-climatic zone ?
(1) Khammam "~ (@) Kamareddy
(3) Vikarabad (4) Yadadri - Bhuvanagiri
1808 86" oS Boore SiScH ISP Hodwod’ s 2 6 ?
gy w30 2) s3ro@
3) Jsord : 4) oromd - HS5Nd
25



9.

95.

96.

Which one of the following statements is correct ?

(1)  Bihar has 40 Lok Sabha constituencies.

(2)  Goa has one Lok Sabha constituency.

(3) Madhya Pradesh has twenty eight Lok Sabha constituencies.

(4) Meghalaya has three Lok Sabha constituencies.

1808 1S538 H8TSA HB ?

(1) D56 oSS S 502 ATraE SPswen S,

Q) Ao oS 2.8 S0 DBratsSSsn oo,

B)  DEHDTF T(RSDS’ RESB DDA SEDES DFTrass SEswen Ee35.
4 DarochH o RSweS Sardy o §023 QIrasg SPSwen LIONY

Which one of the following is not correct statement with regard to Inter-State Councii ?
(1)  It’s Chairman is Prime Minister.
(2)  All Chief Ministers are it’s members.
(3) It was constituted on the recommendation of Justice 1.S. Verma Committee report,
(4)  Administrators of Union Territories not having Legislative Assembly are its members.
@085 TR HOBDE H020H0D HOTS 1HELS TS VA 2
(D) 158 oIS A8 evdgEch 4
() ©) oo Swpsolghen R0%e* Hbgen
() 2RDBIN. 36; K¢ YD DB BB Doryenowod.
A 80 en B S0l 33 [romres Ferdven BEAVIIIN

Match the period of the following governments with the number of Lok Sabha concerned :

List — I (Government) List - II (Lok Sabha)
a.  National Front i Tenth
b. ' Janata Party ii. Ninth
C. United Front iii. Sixth
d.  Congress Party iv.  Eleventh

(B08 (D29e 550 SPer80% Ho20B0 SEH2S DO 2SHSSHSY :
2 Der - 1 (1HHS $50) Do -11 (33 5

8. FasS (Hoes i D88
b. 28 > i SRS 9
c. OZVE (HodS . o838 v
d. o8 iv.  DSToBS \\

The correct answer is : BT DTG0 :
- a b c d

R T

@ i i v i

G) i @ iv i

@ i v i i

PPC-GS1



Match the following states with their Chief Minister as on 20% Feb, 2019 :

List - 1 (States) List — If (Chief Ministers)

a.  Uttarakhand i. Biplab Kumar Deb

b.  Himachal Pradesh il. Trivendra Singh Rawat

c. Tripura iii.  V.Narayana Swamy

d.  Puducherry iv. Jai Ram Thakur _
20 Feb, 2019 °¢38 01 QS0 S0 $00(00eD 2B T0 :

arder - | (o) T arDer - 11 (Sopgolgoen)

a. asogod i DS 5058 BS

b. S (DTF ii. (830 Dol oSS

e 18 \ii. Q. T ODED "N

d  H30 iv. Z20%oses

The correct answer is : OQDS NSFPES0 :
a b c d

My @i i v

2 i i i v

3 i i v i

@ i v i i

‘Casting Vote’ to the Speaker of Lok Sabha is given in which Article of the Constitution ?

(1) Article 100 (2) Article 101 (3l) Article 102 (4) Article 103
S8 DIEBH ‘sPOB S’ 500 UrEr ol OSSN ;
(1) 100 S ©688c0 (2) 101 3 0550
(3) 102 pHids0 4) 103 % 588620

Which of the following statements are true ?

i The Indian Council Act, of 1909 introduced the principle of election for the first time.

ii.  The Government of India Act, 1919 gave separate electorates to Sikhs.

ili. The Government of India Act, 1935 gave separate representation to Indian Christians.

iv.  The Indian Councils Act, 1892 decreased the functions of Legislative Council

&4 1800 |HSB8INOS’ HOTAD D ?

L 28 08O &S 1909 BSBIOMT D) E OSSN |DSFDGSO.
i, e 020§ 9w 1919 1HVZO |DBE VA28 ST e FEra0DIA.
i, 2706 |H2H IS 1935 RAHRH |DSBE | AP BD I,

iv.  2rde Doderen S 1892 TS H08%d PO éQo{.‘)&Sé.

Choose the correct answer; / SO 25372060 IO

(1y iii&iv (2) ii&iii - (3) i&kiv @ idii&iv

27



100.

101,

Which one of the following statements is not correct with regard to sources of revenue to
Municipalities ? '
(1) Grants-in-aid from contingency fund of India.

(2)  Grants-in-aid from consolidated fund of India.

(3)  Taxes collected by Municipalities authorized by the State Legislature by law.

(4)  Taxes collected by state but are assigned to Municipality. _
808 58S° SnRyrOder Deer/SSSe% HowoBdodD QO DSISS0 T A ?
(1) 278 ei0hs QO OB (rodT) as Jans.

() 78S HEKYS e OB MoSy BS Jows. _

B) TR TR 38 SI0T $9DE60DN, S0V Oeen Sren ok Jdv)ew.

@ TR Sred TS D80 D08 S0V Oe% TeronotBSEd.

Consider the following statements about price index :

a. GDP (Gross Domestic Product) deflator measures the price level of a basket of consumer goods.

b. The Consumer Price Index (CPI) measures the overall price level of goods and services.

The correct answer is :

(1) Both a and b are correct. (2) Both a and b are not correct,

(3) aonly is correct. (4) bonly iscorrect. .

58 &L (price index) & X020H0D (80& BODS T J82D0S0A

2 o B3r$)8 (Gross Domestic Product) 8985 DA SR JS0Eresre S&e

FONA FeneoA,
b JITrh S $e X (Consumer Price Index) o 3 Do S8 Pawd
Feood.
3B B0 :
(1) a oD b Bodr HBSS, (2) a8 b Bodkr HJRJ 5.
(B) adPS$D IBIA. 4) b SMSD IBIA.

102,

Who has the power to prescribe the number of judges in Supreme Court ?
(I)  President in consultation with Prime Minister

(2) - President in consultation with Chief Justice of India

(3)  Rajya Sabha by passing a law :

(4)  Parliament by passing a law

(D0 FHS' a@e B0 DFowosh BATE0 ISOE Lercss ?

(1) 195 0B dowdoHOS T PHs

@) 08 DS FycHRrd Sodoyes o HHe

B) TBEOBH SHIW o 5o°

(4‘}/;3'95305!&: Ssw o sov

PPC-GS1



103.

104,

10s,

The canon of equality taxation as proposed by Adam Smith, satisfies one of the following :
(1) Lumpsum tax (2) Regressive taxation
(3) Proportional taxation (4) Progressive taxation

BHS BODS T8 edo ;8 @a:mom DE Jredo (canon of equality) B
Doesga HHWOE. ?

(1) E o Hadoy | (2) ST Hdd)
B3) TS dDA @) BT H)

Read the following statements :
a.  National Food Security Act came into force with effect from July §, 2013.

b. The Act gives legal entltlement to 50 percent of rural and 50 percent of the urban
population. :

The correct answer is :

(1) aonly is correct. (2) bonly is correct.

(3) Bothaand b are correct. (4) Both aand b are not correct.
808 o S0B :

a 8D 6l FES $&o (National Food Security Act) 28, 5, 2013 oD
eS8 ISD)0A.

b, &S HSS O e (oS0’ Ke> 50 TS0 HOCK HYPe (FrosodS' Ke> 50
TS0 BT rH0 VYIS 750y (entitlement) & IV A.

DB Do :
(1) adred I8 @) bISD IS
(3) a8 b HBID (4) a00% b BOGrT HBID s°

In which of the following Five Year Plans, India’s growth rate of agriculture exceeded the
targeted growth rate ?

(1)  Eighth Five Year Plan () Ninth Five Year Plan

(3) Tenth Five Year Plan (4) Eleventh Five Year Plan

&1 (808 BODS JHoNSE 1HTRES’ J DTV S0 rESTE S35 T0H Soff S8
Bén TR AT (targeted) S9Q Bew vy IHopSm™ STrSoNod ? eSS
(1) RADES HoTISE (Hea ¥ (2) SWIES D0V DTV

(3) DAL HoSE (Her P (@) DETOWHS HodSE (Her V¥

PPC-GS1 29
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107,

Under full capital account convertibility, if an economy does not perform well :
a.  There will be a massive capital outflows from the economy.

b.  There will be a massive capital inflow into the economy.

¢. Few mdmdual investors lose, the country would gain.

d. Few individual investors would beqpﬁt, the country would lose.

Which of the above statements is/are u-ue?

(1) aandbonly (2) aandconly

(3) aanddonly (4) banddonly

Q0P eSS @F0eS 51834 (Full Capital Account Convertibility) &e5) 33 )¢h, T% 0%
S559 DOBS DGIOrr HD FToHAS' :

a. 37 6Q8 3559 00D 2rb ZnsosS Sirerdss S$3D03 &otnod.

b. 3% eQ¥ 35595 o8 IndosS® Sarercsso S$S3DIN0H.

c.  §0d Hod I358n DePArdien SHm, T4 o-o@& 00D,
d. 508 508 35818 DEY2AT LD erBHEM Fho SHNS06,

2 T5ps0S’ DB/ HBID ? |

(1)  aHOK b Sred {2) a 0005w ¢ SMSH

(3) addondSreSsH (4) bSO d S

Compilation of General Agreement on Tariff and Trade (GATT) Uruguay round (Eighth round)
negotiations is popularly known as :

(1)  Sutherland Proposals (2) Dunkel Proposals

(3)  Mike Moore proposal (4)  Oliver Long proposal

S (asaﬁéé esmaaod 83 70D wol D) ) dur:ﬁo?i,g T°08 (QANES To8)
D)0 DSOS S DB [T 0S50S Kercks -

(ly Ardberod (D&Fad (2) &3S wrad
G) DEIE H¥FRS () ©OSE ol |HFaS




108. Read the following statements :

109.

a.

b.
c.

d.

M. Vishweshwarayya formulated a plan and published it in his book “The Planned
Economy of India” in 1934.

Jayaprakash Narayan formulated ‘Sarvodaya Plan’ in 1950.
Sriman Narayan Agarwal formulated ‘The Gandhian Plan’ in 1945.
M.N. Roy formulated ‘The People’s Plan’ in 1944.

Which of the statements is/are correct ?

(1) aandbonly (2) aandconly
(3) bandconly (4) aanddonly
80d g5 98085 ;

0. DB FE00S 2,8 |DTVED SrProA0D S HVER0A “The Planned Economy of
India” 1934 &' HtHOOT . '

b ZOHHSE TTODE ‘DF B (HETVE & 1950 &S Errodomrdd.

e RS TTohe eforsS rodchS @’)Eﬂ'é’é’_c& 1945 &' Erfrodomrdd.
I 03800 ‘655 DHEE & 194 S ErFodOTE,

D TIPIOS DA/ DO ?

(1) 28805 b S| @) 2580k ¢ S

(3) bSO ¢ S (9 2S00k d SMSD

What is the prime objective of Special Economic Zones (SEZ) in India ?

M
@
€)
®

To enhance foreign investment and hassle free environment for exports.
To encourage free capital inflows and hassle free environment for imports.
To encourage startups for five years.

To provide employment for rural youth and encourage rural innovations.

BSTI0S |HB5E B8 0B, DTS DO Ies ?

M

@

3)
@

DEY EP2AI DOLOAOD MDD FEH O BBV BY SEISDY
£ 0. '

BT JreRS SEO0HPDH FFSIIr0D D HHBIED B OHDHS TEIST)
£D)oH%e.

@058 DOPOLD, 2D HOBS YT O Few £ YorothHed.
(r2ed 0SS0 @& sA SO IPRDED S5 B0 ()20,

31



110. From which Union Budget onwards, the classification of Plan and Non-Plan expenditures are

111.

replaced with Capital and Revenue expenditures ?
(1) 2014-15 Union Budget (2) 2015-16 Union Budget
(3)  2016-17 Union Budget (4) 2017-18 Union Budget

SOLS DS 50 D FES W0 PP, (HEr YIS S5aire $088e S0 Siressy,
O38rs Sgasrent &b T (H35 306 ? '

(1) 2014-15 So|&S 23S (2) 2015-16 So¢S 25eS
9) 2016-17 So(¢s ¢S (4)  2017-18 So|¢s 23e5

Fiscal Responsibility and Budget Management (FRBM) Review Committee, appointed by the
Government of India in 2016, submitted its report in Jan-2017. Which of the following
suggestions of this Committee is/are correct ?

a.  To bring down the debt - GDP ratio to 40 percent by 2023.

b. The central government should target a fiscal deficit to Q-S percent of GDP by 2023.
¢ The centre should replace the existiﬁg FRBM Act, 2003 with a new law.

The correct answer is :

(1) aonlyis correct. (2) aand b only are correct.

() bandc only are correct, (4) aandc oﬁly are correct.

PSS 0T 2016 S dawADoDAS FRBM (Fiscal Responsibility and Budget
Management) 509> $20¢8 85 DBAEL BIS0, 2017 & D08 )00, AKS DS
WBIOS” IO/ & $20¢§ ArsSer HSom DB 2

a8 -GDP A8 2023 7e38 40 T8 Shohe.
b, 2023 eS8 g0l (DS 50 S 8% S'ew ;) GDP ° 2.5 FSor AJFoh Ead.
c.  Sol& (H2Deb o, DDS0 whens &Sy FRBM Act, 2003 B 28 & S&oS* (1D

TS Baswrd,
MBS DSPG0 -
(1) adw@d 386, | (~2)/a SHOA b SFS T HTSD.
() b DO ¢ ST HBID. () aBAW ¢ SMSTDH HBID.

32



L

113.

114

Which of the following river/s is/are not a tributary of the river Krishna ?

(a) Panchganga (b) Malaprabha

(¢) Purna (d) Pravara

The correct answer is :

(1) (a)only (2) (c)only

(3) (c)and(d) only (4) (c)and(a)only
1808 3S" DO/AD BT TEY ADSE/EDIENED S ?
(a) Hodko T by el

© J¢ @) 1033

DO BTN :

W (@SS Q) (©) @D

(3)  (c) SoB0%W (d) S @ © OGN (a) ST(Sad

Which one of the following is an Indian Satellite sensor ?

(1) LISS-TI (2) MSS
(3) LANDSAT (4) GeoEye
1808 &3¢S’ 2r3B0H ADHHT DY IO ?

(1) LISS-II (2) MSS
(3) LANDSAT (4 GeoEye

Consider the following ranges in Himalayas and find out the correct sequence from North to
South :

(a) Zaskar range (b) Pirpanjal range

(¢) Shivalik range (d) Ladakh range

808 DEYS) SrSrochH D85S Fwod, Gddo Hod S§Lo SN SOPS SHO
ESos HBoHs.

a 2638 ' b HBdozd (3
c. BoIFES d. o883
The correct answer is : / COOQD 23a7°2 :
(1) d-a-b-c¢ (2) a-d-b-c¢
b-d-c-a 4) b-c-a-d
115. Where is the headquarters of the East Central Railways located ?
(1) Kolkata (2) Hajipur
(3) Allahabad (4) Bilaspur
&iQ OIS BT IR0 B[S DTS ST SO0N0 DEFH A A 7
(1) gSE 2) 2350
3) ooFwd 4 Doy d
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116.

Read the following pairs about the ‘International Day of the Girl Child’ :

a.  The day is to be celebrated on : October 11

b.  The organisation which declared the day to be celebrated : UNESCO

The correct answer is :

(1) Both a and b are correct (2) Both a and b are not correct
(3) Only a is correct (4) Onlybis correct

‘BEBVO VOSTBAD BIE)50° K $020HOD 808 BSOD 55508 :
a  SOSSIT) 2HHHT T : 0§06 11 |

b & OSSR BHHTTOD DGaWoDS H0 : IWBLF, (UNESCO)
QAT DATrETS0 :

(1) a6 bBo&r HOTED 2) a2B05 b Boks HOTHLSD 59

(3)  adTSBD JBTIA (4)/1: S S SOJRIA
The following countries are the major importers of liquified petroleum gas (LPG) during 2018-19 :
a.  Japan b. India ¢.  China
Choose them in the descending order based on their quantity of imports :
(1) abandc (2) c,banda (3) b,aandc (4) c,aandb
B9RE9S DE'ODO A (LPG) 5 8§00 Brren (Do S TOEOENT*) 00
a  a>S b pésdo ¢ B | |
T3 HHD® e TER ST 15006’ 08308 |
(1) abdawe @/c,b&ﬁoﬁna
(3) b,adadwe (4) c,aNdAb

118,

Read the following statements about the ‘World Sustainable Development Summit 2019’ :
a.  The summit was held in February 2019 in New Delhi.
b. The theme of the 2019 summit was ‘Institutional Framework for Sustainable

Development’.
Choose the correct answer :
(1) Only ais correct ' (2) Only b is correct
(3) Bothaandb are correct (4) Both aand b are not correct

D0 PS DY@ DX 2019° 5> HOOHOD 808 FFWLBD BRSO :

a8 D050 D233 2019 & SrsADS DS s2roTrs.

b. A0S WDIYH FEH DoP K S0 (DSo3B)))’ T 2019 DS Ty, HB.
QOBS VAFETTR), ODETHOA :

(1) asred SBPIA (2) b IFSTH OIS

B)/ aSOANbTOGEr HODSD () 2 BN b Bodr KBS T

PPC-GS1
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119.

120.

121.

As per the ‘World Employment and Social Outlook Trends 2019’ report published by the ILO in
February 2019, the global unemployment rate in 2018 was :

D58 2019 S° ILO T 1H080528S ‘SES doF HH0ES @008 FAS TSen§ (08)
2019’ DB6S 9580, 2018 S |DHOS G Bew Joes ?

(1) 5.6% () 5.0%
(3) 4.6% _ 4) 4.0%

Who among the following was honoured in February 2019 with the ‘Freedom of the city of
London’ award in recognition of contributing to promote bilateral relations ?

(I) Amarthya Sen (2) John Paul Preston
(3) Noel Byrne (4) Sanjiv Chadha

B0 8D & DS 6D LodS BIFPDH DWSB 2019 S FiTrsE Joworrerd
183210 ERE BIN0 TRSOKE S 808 70 508 1HTFS0 Ty ?

(1) 8RS _ Q) =TSFE(DAS
3y Sand 38 (4) J0AES ISP

Read the following pairs :

Book Author

a. Changinglndia  ~ :  Dr.Manmohan Singh
b. IDoWhatlDo : - Dr. Urjit Patel
The correct answer is :
(1) Both a and b are correct (2) Both a and b are not correct
(3) Only a is correct (4) Only b is correct
808 2SO &S0 :

HR¥o (solfod) SeSone
a. Tozoff 20k : &, DSS DO
b. & ¢S od - &5-5 IS
DOPS v : '
[ 'a 308050 b Bod DO 2) a 3805 b Bodr SOTS 5%
(3) adMSD HOPIA @) bAPSD SO

——
. s

]

[pPCGsi] B ‘ . 38



122. Read the following statements about the Astronomical Society of India :
| -a.  Dr. G.C. Anupama became the first female president of Astronomic_al Society of India.
b.  She was elected to the post for the biennium 2019-21.
Choose the correct answer :
(1) Bothaandbarecorrect (2) Bothaand b are not correct
(3) Only ais correct (4) Only b is correct
25 i 7 X8 HowoBOD 808 FIDIO®H FBI0B
8 25 ¢ T S TS HIrer e ar 2.9, ©DD.

b, 2019-21 Z585 (Bodh HoNe yorw) 57l 8 eddsHHoren JodE 0808,

QO DArTAR), HONE TaHod
O 2 805w b Bodr HOTSD (2) abAW b Bodr SOTPIN 5%
(3) adMeD HOTHIS (4) b IS HOTSID

@ Read the folIO\#ing pairs :

a.  National Girl Child Day : 11" October
b.  Theme of the National Girl Child Day 2019 : Empowering Girls for a Brighter Tomorrow

Choose the correct answer :

(1) Only ais correct (2) Onlyb is correct
(3) Bothaand b are correct (4) Both a and b are not correct
808 2 S&S0H :

a. DASS KBS T w28 11

b. 2019 IS 68 BH T gy D : I ES08S BHES T8 ardiod
FH0E0 Tahdo’

SOBS DIFPTER), DONE TaHod
(e a S HOBSA (2) b IS HOB/SS
G a SOD bBOdr FOPRD  (4)  a 5B b Bodr HOPSD 5%y




124,

Assertion (A) : A disaster relief exercise, ‘Exercise Rahat’ was demonstrated in Rajasthan in
February 2019.

Reason (R) : Exercise Rahat was organised to synergise efforts for humanitarian assistance
and disaster relief operations.

The correct answer is :

- (1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

128,

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4)  (A) is false, but (R) is true.

(DAIES (A) : ‘BT E5E’ D DHH) BBFNS B85 5B D236 2019 &°
oaySS’ 1HS8 052808,

8W0 (R) : SrdSs JSTCHO HOKD DD AHFNS sEgEere FHo
(CHE) D NS SOD DBEAE ‘DEIERE ETE* DS Srod0b0d.

QORDA Ao

(1) (A) DB (R) BOU HOTHSD, 5080 (A) %0 (R) HOTS DS 6998008,

(2)  (A) SHOCI® (R) Bodr SOTSY, 5°R (A) 50 (R) DOTS DedBen 57,

(B)  (A) SOTSB, 59 (R) DOTJSA 0.

@) (A) SOPAG 57N, 5°N (R) OB

Read the following statements :

a.  Abhinandan Varthaman is the Indian Air Force (IAF) Air Commodore.
b.  He is the first recipient of the ‘Bhagwan Mahavir Ahimsa Puraskar’,

¢.  The award carries a cash prize of ¥ 5 lakh.

Which of the statements is/are not correct ?

(1) a,bandc (2) aandbonly
(3) bonly i (4) aandconly
808 s BB308

8.  2rSS0H BIrIE S (IAF) donB SIrEB™ ©DI0SS STIrS HATYT .
b ‘BHS DIDE eSO HEFYEDY’ Indes i ©SDX
c. S OTYPHrSH Er 5 0EO S DIVNRD WoAT.

& FipsoS H0 A A 7
(1) abdwe (2) aHB0sM b A
(3)/ b S (4) 2580k ¢ SMSH
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126. The government-funded health insurance scheme, the ‘Pradhan Mantri Jan Arogya Yojana’ was
launched in September 2018 by the Prime Minister of India in :

(1) Gandhinagar () Varanasi
(3) Ranchi | (4) Pune

5206 5 DO DEIEBHBS DESL0B 23 68 Brad v ebis Dir 555y
0028 2018 S° 43186 (DG O DE) S (0D ?

(1) rod3Es @ 8D
3) orod @) I

127. Match the following central agencies with their Directors General :

‘Central Agencies Directors-General
a.  Border Security Force i Rajni Kant Mishra
b.  Council of Scientific and Industrial ii. S.S.Deswal
Research (CSIR)
¢. Indo-Tibetan Border Police iii. Jataj Srivastava

iv.  Shekar C. Mande
808 Fo& HoPeD ¢ BOEL B35S 288D850A

dois HoP BoEs 2358
a. S5 DErsoes 95, i 52 508 ¥
b RGH S0k 'mmmé DOFST i SS. BayrsS
30 (CSIR)
¢. 208-8BOLS 5B FOD i, 202 3adS

iv. 98 C.Xo03
Choose the correct pairs : / DO 235D JODE ToHod :
a b c
(1) iii i i
2) i v i
@) i iv il

(4V i i v

fal 3
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129.

Read the following statements about High Courts in India :

a. A separate High Court for the state of Andhra Pradesh was constituted by the President of
India with effect from January 1, 2019,

b.  With the creation of this new High Court, India has 27 High Courts as on March 1, 2019,
Choose the correct answer :

(1) Both aand b are correct (2) Both a and b are not correct

(3)  Only a is.correct (4) Only b i5 correct

ATBSTHYY) TED (5) S T 0HFH0) Ho HODOHOD 808 T sMEer 9SS0 |

a. 2019 2558 1 od evsden @c"xiage.}d'.nn- FAYe1) o-m.,:,a eo@é@ﬁ% U‘L@K)ﬁ S

PSS doyEn T, :
b. & &8 P doryend rEsEos’ S8y 1 2019 =¢38 méc@ gﬁ'@m

CH0™) 0.
QODS DR, JONE TOHoH :
(1)  aHBAkM b Bodr HOTSD (2) 2SO b BO&F HOTSD 5%
SS)/a SPSD DOTIA (4) b ITSED OIS
Match the following :

Award Awardee

a.  Ashok Chakra (2019) i. Narendra Modi
b.  Carnot Prize (2018) . ii.  Pranab Mukherjee
¢.  Padma Bhushan (2019) iii.  Piyush Goyal
d.  First-ever Philip Kotler iv.  Nazir Ahmad Wani

Presidential Award v.  Sukhdev Singh Dhindsa
808 a3 28858508 :

DB o/ @ iitrs

a  oFENEQ019) e i.  SBols Ird
b. 50 (2 (2018) i, 106025 Sopd
. H& SRS (2019) L HowD o
d  IYINGE HOD L5 v, 3E8 @S el

(RATBIYHS waf v. fBS vt Soar)
Choose the correct answer : / SOTS AIFETTR), JoDE Fohod -
a b ¢ d .
O v i i i
(2) i i iv v

B v i v i

‘9)/ iv i v i
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130.

|

132,

India’s heaviest communication satellite GSAT-11 was launched successfully in December 2018
from :

(1)  Sriharikota in AP ' (2) French Guiana

(3) Devanagere in Karnataka (4) Hasan in Karnataka

TESTEY 26 ETEITAS AIHTS 2ES <11 (GSAT-11) o Ao 2018 &° 800
WBred’ 58 Hod dasosor [FEoDoS ?

(1) Brose, sodHBT Hod OF 208 foirar &08

(3) oSN, $Tes Hod @) DS, $gred Sod
Aero India 2019 was opened in
(1) Hyderabad (2) Chennai
(3) Bengaluru (#) Goa
28 20805 2019 8,8 adododaBob ?
() Teoes & Q2 BHDHS
(3) BoikrdHd @ fas

The ‘Corruption Perceptions Index 2018’ of the Transparency International ranked India at

(1) 81 in 180 countries (2) 78 in 180 countries

(3) 79 in 180 countries " (4) 80 in 178 countries )

1€75308) R0LBLANS (GOSTACH FESEES) O ‘SEDS QBQQ.S;) 'aoﬂg,a
(A8 IrTde Srdd) 2018 S rdSTEEY oo dos? T

Wy 180 Brod' 81 () 180 Brod'78

(3) 180 Bros'719 . (4) 178 Brod' 80

Read the following pairs :

a. 1* LAWASIA Human Rights Conference 2019 : New Delhi, India
b.  World Governments Summit : Hyderabad, India

Choose the correct answer :

(1) Both a and b are correct (2) Both a and b are not correct
(3) Only ais correct (4) Only bis correct
808 2deD 5508 :

2. LAWASIA Srds S3¢he 3ncsed 58)88) : Srsdd), ardedio
b. DDV DhEr s DAY : ?,_:‘CSU;;Q&, ardé_é%o

DOTS JSTETTR), VoNE ToHad :
(1)  aH8akw b Bodkr HOTSD (2) a0 b Bodsr HOTID 59
(3) 2SS HOTPIO @ b SPSH SOT]HIA

PPC-GS1
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138,

Read the following statements :

a.  The Chairman of the Defence Research and Development Organisation (DRDO) is Dr. G.
Satheesh Reddy.

b.  Dr. G. Sathesh Reddy is the secretary of India’s Departmaent of Defence R & D.

¢.  One of the winners of the 2019 Missile Systems Award’ is Dr. G. Satheesh Reddy.

The correct statements are : ]

(1) aandbonly () bandconly

3 ﬁandconly = (4 abandc
80& a'msoa’n S04 ;
2  &98)835) 908 BIOHD0S 8PBEAS (DRDO) 5 Dr. G. H8% 30 B8 S.

b, rSSBEY &S H18) 08 BIODHR0E (R & D) AFHDoSH || BIDD |

B DELS.
¢ 2019 RIS DPD) oY’ (s.é':d S5590 ) DASS Dr. G. 58K BO 2.8%.
QDO arggen : |
(1) a0k b Sredsdh (2) bSO ¢ ST
(3)  a SOk c Sredsd 4 a,bHdA™e

Read the following statements about the Australian Open Tennis Men’s singles final match held
in 2019 :

a.  Novak Djokovic defeated Rafael Nadal in straight sets in the final singles title.
b.  Novak Djokovic won the men’s singles title for a record ninth time.

Choose the correct answer :

(1) Only ais correct (2) Onlyb is correct

(3) Both a and b are correct (4) Both a and b are not correct

2019 &° 2008 & POCHS LS HEHDO BD DoAS) ?1)‘66 Sr5S80 Do0d0D
800 s SBS08 :

2. DOAS) RIS JrsSS’ ES S S SHD RS’ Sk SEE a,c?aoa'd&).

b #ROWDS HHVO VoAS) PUSD Aendrods Sk FEIE 658 rons
IS0 SO L) & PSS FOoT .

DO JSrTR) JoDE Fohod :
(1) 23D JOTIS (2) b S DOTIS
() 20N bBOHr IOPSD - (4) 2 DO b Bodr HOTS 59

PPC-GS1
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136.

137,

138.

5

The number of triangles in the following figure is
&3 1803 2D HL0SR) |Bhare Hops

1M 9 2 11 @ 13 @ 15

Observe the following sequence and find the missing term among the given options.

Lio% a@é&-&; D020, BN IS BIVFDEXD 0D S*HODS HED) EOFS0A.
0,3, 615,24, s

a 29 20 @ 3 @ 4

Observe the following sequence and find the missing term among the given options :

808 o887) $68DOD, ADIS DIVFOHES 0D SHODS HIR) EHFS0A.
g
8,12, 24, , 60

() 23 () 29 (3) 31 @) 36

Select the cube among options (1), (2), (3), (4) that cannot be made by folding the following
unfolded cube :

OIS QDI DS DY HTR), 08 DYAO 50" AN YS RIS (1), (2), (3), (4)
oS TR :

l.‘ - . . ’
..
D. ....o . i .t.t

?(ml) 2 (mld O (ml) ©[m[

PPC-GS1

42



140. Match the following : / 22€65805W :

List - I (Sequence) List — 11 (Missing term)
= de - 138 2D - 11 (S'HoDS HesSw)
a. v} C,G,,G}V ) i. 2
b Bo2s 8L __ i 50
c. 141204 23; 38, /<:‘\ iii. 121
C x0T
d.  3840,384, 48, 8, iv. 124

The correct answer is : / 0B D3FEadaD
a b c d

(I iv i ii

@ v i i

3 i v i i

4) i v i i

141. Read the following statements :
If the radius of base of a cylinder is 5 cm and its height is 6 cm then its
a.  Total surface area is 110 n sq.cm
b.  Curved surface area is 25 n sq.cm
c.  Volume is 150 n cu.cm
The correct answer is :

(1) Then a and b are true (2) band c are true
(3) aandcare true (4) a,bandc are true _
1808 IDSVT O &S0 :

a8 Y0 & T5RRP0 5 0., DB 6 0.2, wand vl
a.  DosFFde FFe$o 110 1 5. 0.5,

b.  SESe 50 25 1 5. 0.2,

C.  DSDBIr20 150 © 320.0.0.

NOPS DSrEH0
(1) addba b e debgo (2) baDHOSW ¢ e Nedg0
(3) aDdacen d&$go (4) 2, bDOAW ¢ e Sedg0

142.  Observe the following sequence and find the missing term among the given options.
1806 ©BEIT) ,ae%gg@__ QD) DIVFTRHELN 0D S'HoDS HIR), EHF$0A.
¢ i

a"—*-u-""_“\

566816.19,57, - T 244,249 -
(1 158 - @ 121
3 9 @) 6l




143. The length (in meters) of a rectangular canvas of 2 m width required to cover a conical tent of
base radius 14 meters and height 48 meters is (in meters)

2 & IBen) DN 2.8 Y SHB0 s RS - g0 14 Qe 805 b
48 &G EOAS 2.8 Jogn ©Td KrEroW) $H)TNE TIOVS SN B[y, B
Q&3S |

(1) 1100 (2) 1060

(3) 960 4) 880

144. The area of a field in the shape of a trapezium is 7200 square meters. If the length of one of the
parallel sides is 80 meters and the distance between the parallel sides is 60 meters, then the length
(in meters) of the other paralle! side is
D002 VDY BSEINS &) 28 FoSn T BTOD 7200 BSOS D).
ASrods oS’ 28 Hadn S 80 D HOAM HSross Hare s
S 60 R NS, BoBS DITrosS 2H238w TE) ey (LSS’
(1) 240 (@) 200
(3) 160 4 150 .

In questions numbered 145 to 147 you find on the left two terms / group of letters which have a relation
between them. Fill the blank on the right with one of the options given so that the terms/group of letters
on the right have the same relation as the first two.

145 0B 147 $6% B HHOS B BHS 28 D000 o BodHIren/eLs
VANETADOD SrSS). ©F JoDOBO @OTRT HA BIS &) DHoren/eid

BINTAHoS’ &) 57O FDIS VYO $0d 25TV oD FaHoA.

PR N

145. 49:121::169:
(1) 225 ' (2) 256
3 289 4 324

146. LOSE:NRWJ:: GAIN :
(1) IDLP (2) HCLP

9) IDMS (4) HCMS
) -
147. 9:343::12:
(1) 512 _ . () 1331
3 729 _ (‘9/

“



Based on the information given in the Venn diagram below, answers questions 148 and 149 :
BHS BN IS DSOS HATFTTE0 STEOM 148, 149 [HF) O HSFEFENS 0B

148.

149.

150.

151.

152,

VB
LX)

8
A

The number of elements in the set (A N B") U (A' n C) is, where A' and B' denote the
complements of A and B respectively

DS (A N B) U (A' N C) S Srose Hops, 'az‘.'),je.:u A' $H6aA%» B en SEOJT A
.Soaoﬁn B © G3nE) 3Jrd8sne Srdarow.

(1 16 (2) 20 B 21 ' @ 14

The number of elements in the set A ~(Bu C) is

/W AN (BUC) S Lrose Sopg

m 7 () 8 3) 9 ' (y/ 10
Pick the odd thing :

(1) Goat (2) Hen (3) Cow (4) Horse
MBS B0,

(1) D3 [~ (3) ©) (4)_ Sigo
Choose the odd thing :

(1)  Arithmetic Mean (2) Variance

(3) Mode (4) Median

OO HBoOA.

(1) oosNPs0o Jo RN

(3) ardu¥so @) Psieso

A committee of 4 girls and 3 boys is to be selected out of 6 girls and 5 boys. The number of ways
of forming the committee if two particular boys r'cfulse to be in the same commiittee is
8&HS 2O, DEHE 2rendd SHoB SenthHd erdEen, SHPL erendd Ko S
JoETO. DS’ AFF0DS AP 2rendd 2.8 EedS BoBerdt JTEBD, & ED
SIS TR ITT© Howg

() 150 (2) 135 3) 120 @ 105
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Data Sufficiency :

In each of the following questions from 153 to 158, each question is followed by two statements labelled
I'and II. You have to decide whether these statements answer the question given. Mark your option as

(1)  Ifthe statement I alone answers the question.

(2) If the statement 11 alone answers the question.

(3) Ifthe statements I and II together only answers the question

(4)  If the statements I and I together also can’t answer the question.
BB oo gD .

1808 DS DIyen 153 Hod 155 I5H Ko (HS D¥) 1508 Bodh DSSen I, 1
BBV, B DHH S DSITen Barew S ghos BE 9 dgowomdy &od.
(DF) 50 DAPTTaR) S S8
(1) (DSI50 I SMSF HOHFS Q) dSrerdo (1) ed,

(2)  DSBS0 I STSD HOFE Q JSrES0 (2) ),
B)  HSST [, I 01T rAod S 3D SSFETIWS ﬁQS D Srerso (3) ©,

(4) 1D3STen I, 11 Botdd adBrAod Srae a’)é.rcré WSS BAS D DSrTdo (4) ©d
HOoHSw.

153. What is the average of a, band ¢ ?
I a, b and c are in an arithmetic progression.
II.  a, band c are in a geometric progression.
a, b, ¢ €0 NTRO O ?
. ab,cenafeodEssS aomyom.
I ab,cen e He 3OS aayav. \

154. Isa>b?
a> b @yhorr ?
1. a2 > b2
I Ja|>|b|

155. Is the quadrilateral ABCD cyclic ?

He)280 ABCD BS|8ahesor ?
I.  AB is parallel to CD
CD § AB Jdroeddo

IL. ABC + |ADC = 180°
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156.

157.

158.

159,

160.

In a certain coding process, the word TIGER is coded as TIJOW and the word BLIND is coded
as GQOND, then the ‘ggde (f?;,the word S%ﬁ Em tfl:e same code is L
28 5038 HEDS' TIGER ©F Hord) THOW, T $60%0 BLIND '@ 503 GOOND
i 88 TR, 08 H08s HSBS' SWING S8 Hodeso
A SWoYv 7 & IQovv

(3) JQONG (4) SWONV
P, Q, R, S, T are five persons sitting at a round table facing its centre. P sits between T and Q. S
sits at immediate left of R. If Q sits between P and S, then the person sitting immediate left to T
is
oD 5580en P, Q, R, S, T &0 2.8 Hol& 2€ ey 3olcrDSweyon $vEd yam) &.
T OB Q © NG5 P ErdH)ae)&. R § S5 B00%; S &) &. P LHdakn
S © 08 Q &OD I T 5 SF 0 DBDB5Y Hr&d)S) 58

P () Q
3) R @ s
40 boys are seated in 40 chairs arranged in a row. Ravi is seated in the 8t chair from left. Raju is
seated in the 1910 chair from the right. Ram is seated exactly in the middle chair between Ravi
and Raju. Then from left the number of the chair that Ram is sitting, is
2.8 SBHS" @50)% 40 810" 40 2renth E% )T, B (D8 D0 8 S HHBID
8 Srdo )y . B0 (D 0B 19 S H8)D Ter Ky . 8D, oraren Erd)S)
508 0% DS &5 S8 T S )T, 851 IS 1HE0 Hod T
Eordd ) $08) Do )
W 15 @) 16
G) 17 @ 18
If A is son of husband of daughter of husband of B, then B is A’s
(1) Grandfather (2) Grandmother
(3)  Great grandfather (4)  Great grandmother
B 3wy 256 Ty Srehnd Ty B8 Twd) HoSrdch A wond B e S8 A By
(1) = L2 0020/
Q) wEs @ Sy
In a code language SMILE is written as UKKJG. Then in the same code language FRUIT is

coded as -

28 D08 270 SMILE Q UKKIG ™ |75, @00 o8 5086 arae® ERUIT 55708
Nodeso '

(1) HKVHW @)/ HPWGV

(3) GRIUW (4) FLWKV
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161.

162,

Read the following statements :

a.  Values do not guide us to live ethically.

b.  Good values help us in feeling at peace from within.

¢.  Values and beliefs do not have any bearing on our attitudes.

d.  Values guide us to take the right directions and act appropriately.
Which of the above statement(s) is/are correct ?

(1) abandc ' (2) bandc
(3) candd (4) bandd
&3 1500 DD S0 :

a2 TSZor 2S5 V8 Dendden SrdddEo STEY.
0D DenSen oSPSonT (DT0SOTT SOBETIE HSE DFAH D& ow.
- ENSE, HeISEN S BB A DENS0ES (D27H0 TTHY.
d. S0 HOPsS drgren, BBsen BESB0S’ Densen SrESSIEOM GoLFow.

=

e

DS W) @ TW§ED m&@é&) ?

(1) absodwe ) ba&;f}oi})c
(3) cDbBcknd - (4) bbb
Read the following statements :

Openness is a desirable virtue in professionals.

a.

b.  One can take unfair advantage of the situation in work place.

¢.  One should develop a sense of belongingness with the organization where he/she works.
d.  One should avoid situations that might lead to conflicts.

Which of the above statements are ethically correct ?

(1) aandc (2) acandd

(3) bandd (4) abandc

&4 (500 5RO WV

&S00S DT B9¥)P0 TO SSONS H50.

b &85 900 HEPHOS DINTraso §H0 N ediroor O HEBS T
OISR ATRARY

c. I JATR J0PS IrSE BHDOGT), DOFOBOLNETD.
d  Rodgaosd To8d H8PHe Hod $HIoNE .

DS BD) 2 FIP5EN DOTSD ?
(1) addcwe (2) acHéd
(3) bBcsw d 4) a, b0
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164,

165.

Who among the following National Leaders opined that women should be treated equally and
should get equal remuneration for equal work ?

(1) Bal Gangadhara Tilak (2) Lala Lajpat Rai

(3) Mahatma Gandhi (4) Motilal Nehru

LRen _DdSrdenr  HoiotdTOR, Bk S cosﬁs'&’) @Bq)oén OO

—

@D OHH a'éotb TOHE & (808 S’ DIK ?

(1) ero forrdd ae.as Q) ere onde oPod

G) DS mod @ rderd SV

In India, women, particularly lower class and lower caste, have been suffering due to many
reasons because “women’s problems” are not treated as

(1) “Family problems” (2) “Political party problems™

(3) “Societal problems” (4) “Nature problems™

S50 (Qew, Supjor IHEaBS Hro HOCH DE HorO TodS
5 88 550 SEEO I SaFen HHSIT LK. J0HEOD, (VO BB (§od FBS
D DX HOKEBOT SN B.

(1) “Hono2) HDseOM” 2) “ozdad > SHdger”
3)  “dSresdy ) Deddsenm” @) “DEHS ddogenm”

Who made this statement, “One is not born, but rather becomes a woman™ ?
(1) Simone de Beauvoir ) B.R. Ambedkar
(3) JohnKeats (4) Flora Nwapa

“ 258 28588 2008, EDe (R ™ SrB0&08 (One is not born, but rather becomes
a woman) @ I J°$ETER0TT” ?

(1) IS & b 2) Db ©ozd
(3) =588) @ Yoo
166. Who among the following is reported to have said : “The country and that nation whiéh did not
respect women have never become great nor will ever in future™ ?
(1) Swami Vivekananda (2) Saint Paul
(3) George Bush (4) Sarvepalli Radhakrishnan
80O T §DED S %é@m BN )BIO?
) Bisw MR, D Tk, (DEen MR SrFos FEJo BE o Bisw .b..:-;:.cS§ D)
TS 57, SHR™. .
(1 Frs DFS0 ) Donvod S
G) =R (@) B orrEyus
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167,

168.

Read the following statements :

a.  Tribals are very commonly referred to as “Adivasis”.
b.  M.K. Gandhiji popularized the word “Girijans”.

¢.  Tribes are also known as “Dalits” in India.

d.  International Labour Organization (ILO) used the expression “Indigenous people” to refer
to upper castes.

Which of the above statement(s) is/are correct ?

(1) b,candd (2) a,bandd
(3) aandb (4) aandd
&2 (808 5D 9BS0H :

a. NBRNOND FBROM “adTHN” 8 Denard.
b.  N. 5. rodd “AOBS” ©F HQ) R (D HEL0) TBD.
c.  wESTHoS oHO® BT Sra DB 0.

d  ©oSTAH TV H0P (H.0052) BSS HO0 FEHS G080 Sare>
T (BIoDT0D) BT DIV TITE.

QOPS Ty y(ew) :
(1) b, c0ad @) abddHd
3) 2B b 4) aSdawd

Who is remembered as the person who started Telangana Armed Struggle between 1946 and
19517 '

(1) Shanthi Soundarajan (2) Chityala Ailamma
(3) Varala Pochamma (4) Devaki Yashoda

1946 — 1951 DNGS BLOTET AW H*T0 (FE0HODS S8 V5B Bodr K
ePHoroerd ? '

(1) =08 B odo S S2Y Derse ped
(3) JTO© NS @) B& cH3S
50



169.

c

171.

172.

Reservations as per 73 and 74" Constitutional Amendment have facilitated
(1) Women's appointments in all top positions

(2) Women entering Gram Panchayats and Municipalities

(3) Establishing small shops by many woinen

(4) Increasing women labour in Agriculture

23668 Tramgol Q0SS 73 8, 74 S DISeL & 50° & (80O DG,

(1) o) &) S TS Do AT,

Oy rdoTronae, OO Jodres Hiree (D350
(B) T 0B (e DI) BSETED [FrE0DOTIE0.
@) Ss3arcsh SotiosS sutrer Srde Ho§d OTLO.

Sampurnanand Committee (1961) suggested Reorganization of curriculum at various levels —
Primary. Secondary, College and University level to promote

(1) Language skills (2) Employment

(3) Good impression (4) National Integration

DOFTI0S S (1961) oD 108, 20880, 58& HOAD oﬁ;r&)b;eﬁ
Q‘cmoeﬁ‘ T0TeD IS ESRESH Thero S’ BFISW :

(1) 27=r Byeasesn 2] aTd

(3) 0D ODAHID (@) 2R DK

India’s National Anthem is an expression of

()  Unity of India

(2) the integration of rivers

(3) diversity in the implementation of rules

(4)  Geographical Description

ESTE 2rB0H Ao & ) S585600&0D
ks

W arosdio B Sk

(2) SO ONHDOTVO
(3)  QodSed e 30&3&.}06‘ Qaéso
(4) SHOL LS

Who argued that Dalits were Mool Bharatis (Original inhabitants of India) and builders of the
Harappan civilization ?

(1) B. Shyam Sunder (@) A. Yellaiah Goud

(3) C.Jagannatham (4) M. Krishnaiah

Sben Swre rdRcnen @d, FEF) THOESSH SrFrofodS SO K
FOODIO S ?

() .35 0odb Q) . 2Q0d TH
(3) . 2ET)YHD (4) . |ERODS
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@ Match the following Environment Movements in India with their objectives :

a. Chipko Movement

Narmada Bachao
Andolan

Protest against Cogentrix iv.
company

List-A

- Baliyapal Movement

ii.

iit,

 ListB
It is a fight against establishing a Hundred Mega Watt
Thermal Power Project in Nadikoor village near
Mangalore.

Struggle against deforestation in 1973 at Mandal

Village, Chemeli District, U.P.
It was against taking over of the thickly populated land

for testing missiles.

It was led by Baba Amte and Medha Patkar.

EBTH0S" 2008 1808 HTIIS ASEITOD T Fng)y aTTes BSHE08.
rDer-A
ODE g0

“X .

)
3

[0)

S8 S BoSES

2OASr>S HSg0

SAS|E3E) Lo
SsaBZor ABHS
The correct answer is : SOP NSTGTSO

b
iv
iii
iv

iv

c
iii
iv
fii

*

d
i
i
ii

iii

a*der B

i OAUrD SES S00ErE roS S0 DorardS
S8 535 >Bf Poss  S;88%om
2532088 Moo,

i ASHHBIS' SHO AYSD Dode (ros
o0 JEMODH S38BLor 1973 S 288
ordro.

iil. QPSS wBHoD SdmodH HEFoserds
GIBVrAOLL0D S5BBEomr TS &rds0.

iv. 2reredHD HOK DHEarend &GS
AL,

52



i74. Who is the author of the book, “Emotional Intelligence : Why it Can Matter More Than IQ” ?

(1)  George Mayer ) Guilford

(3)  Daniel Goleman (4) Spearman

“I3r0) S 208OBS): B 2 35 &b 3:'6 TS 08r8” @ I0E S0 DS ?
(1) =fDahd 2) aSPy

3) BAHS FSEHNS 4) DYCHERDS

Who among the following quoted this statement : “It is not the strongest of the species that
survives, or the most intelligent, but the one most responsive/adaptive to change” ?

{1) Ronald Coase (2) M.A.Levy
(3) Charles Darwin (€)] John Miller

& 1808 TS’ 5B & TN DB, “DIDB SrSINE 1DBDYoAOT T /BTN
Hfe8 08 IS HVISEORN, VOBT ZBS &0 OPS FOTY B
8O3 > . " ?

() GoPsD f2) o9HoR.BD
(3) B adie 4) =020

176. American Sociologist P.A. Sorokin distinguishes between two typs of social mobility. They are :
(1) Equal Social Mobility and Cultural Social Mobility.
(2) Developed Social Mobility and Underdeveloped Social Mobility.
(3) Vertical Social Mobility and Horizontal Social Mobility.
(4)  Parallel Social Mobility and Rectangular Social Mobility.

2.0, FTES T OES FrAs I Toth 3570 FrotE HoOT LD HOOTH. @ D
oI : '

(1) DTS 08 BOS0, V0D BE FoWE N0,

(2) V0D FOWE OO, DEVOLA A0 Lo,

(B) QYT SO A oIE ION0, §82 JSroSSor GOt FrotE Seo.
(4) DIrosdS FowE 0, AYSSED Berdo.
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177,

178,

What are the six universal emotions ?

(1) painting, dancing, singing, drawing, writing and teaching

(2)  anger, happiness, surprise, sadness, disgust and fear

(3)  hunger. love, hate. contentment. powerless and powerful

(4)  greediness, jealousy, astonishment, enthusiasm, disinterest and courage

68 DS OIS ST Sren O ?

(1) onoedof, 750 TADSo, %0, DSBS, T-aNGB0, 5.
B §50, 50850, 853550, D0, HES, 550.

(3) B3O, D, 0 H0By, 3§ B, ¥8508 .

(B o= olrad, 83550, G&)T0, T8, Bossw.

Read the following statements :

(a)  Iget severely offended when people criticize my actions.

(b)  I'have inferiority complex and no belief in myself,

(¢) lam very sensitive in nature.

(d)  lcan continue to do what | believe in even under severe criticism.

Which of the above statements is/are related 10 having ‘Emotional Intelligence® 7

(1) (a)only (2} (a)and (b)
(3) (c)and(d) (4) (d)only
s 1800 & g5 O30S ;

(@) ASHN T SSFOD DNBODDPIE0 T Ter SISO 2EHBE .

(b) T 8Sride 2 GO0 SO, T DS TP S0 S,

(€) QLB T Trer LSO SoLrT .

(@)  ©S8506 JNTYHEDS HBPHS’ Errr Fob ST Todootar ITe.

B T TS M ST DY 5O GoderdE  H0200888/
ROV0HOIND ?

() (a) SP&$D (2) (a) 0O (b)
() (c) O (d) ' @) (@) S

2 |
-



179.

“Ignorance of what is the correct thing to do in a given situation” is generally referred to as :
(1)  Humility (2) Uncompromising nature

(3) Stubbornness (4) Moral Dilemma

D0STR) 234 HAN TS 6AS’ der TOHEIr BOHEFIL0 & 1800 TS A0 ?

1) dOcHSW (2) TBHB B g0
(3) BohIIn (4 S38J00he

Match the words in List — A with their definitions given in List — B.

List-A List-B
a. Competition i. It works on the basis of collective wisdom.
b. Accountability ii. It disintegrates the work force.
¢. Adaptability iii. Living at the same time.
d. Co-operation iv. A finished product which is objectively verifiable.

v. Changing myself to suit new environments and needs.

27D - A S HT O 2rdEr - B S 1S58 DELSSSnOS 23858108,

B Dor-A ader -B
a. s L rers 3o esq!‘éo'rr DATA.
b. wrowcdédso i g ST Y0 TR0,
c. &H5Eyd i, 28 dochos’ #dosero.
d. J5sso iv. dAErsor H8OoT F0 TAHDAS cres e,
V. 18€ oESSardf SHOAN eSdToR edhiroorr
S50 B S HE'Se0.

The correct answer is : SO DaITEFI0 :
a b ¢ d

m _ i v iii i

@ i voov i

(3) i i iii v

@ it iv v i
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181.

182.

183,

184.

Which among the following land tenure was introduced by Salar Jung—17?

(1) Sarbasta (2) Shikimdari

(3) Watandari 4) ljara

& 1808 38S’ Ferb 201 (DIFTDES Zr Tew HPS A& ?
(1) SBeryr 2) 8od

3) S8 @ =

By what name the High Court was called during the Asaf Jahi period ?

(1) Majlis-i-Murafa (2) Buzung

(3) Mahakama-i-Sadar (4) Diwan-i-Adalat
@D Zp2re SO0S G TLODYP TRV, DR DOT ?
(1) HBD-2-208 2) zrof

(3)  DIFED-2-OB6 }4} AIFI-B-OTOS

When the Indian Army entered Hyderabad under Majc;r General. J.N. Choudhary in September
1948, who among the following was the General Officer commanding of Southern command ?

(1) Lieutenant General Maharaj Singh  (2) Major General Rudra

(3) Lieutenant General Rajendra Singh  (4)  Agent General K.M. Munshi

1948 N0BS' H2b 2388 BISITEO TohES oS are Do ISTersS
HI0DSH I, & 1808 DFS) TOS' B8 .09 28 E5r08H 236S eDIE §Xrodoh
PANTOV I : -
(1) BPT0S B8IES oS Dol (2)  Dozd 258 So(eh

(3) BRToS 2386 TBoW DOl () B0 BISS B0. SwY

The warrior who tried to liberate Telangana from the Mughal rule after the defeat of Golconda by
making Khilaspur as the centre of activities was :

(1) Rustum dil Khan (2)  Sarvai Papanna

(3) Addanki Rajanna (4) Soma Gauda

S0 48005088 ot DerdFbd &S sdESros, Toor TER
BOOMET INHTONO S OB D30 ToHERE 1D 0D TR VB ?

(1 SHNo &S S (9/ DT J0N a0,
(3) oQos Tz (4 TS
PPC-GSI



185,

186,

187,

Assertion (A) : The relationship of the students and the Telangana agitation has been inseparable.

Reason (R) : On 28 November 2009, the police officials reached North Telangana Bhavan in
Karimnagar to arrest K.C.R. '

The correct answer is

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true, but R is not the correct explanation of A.

(3) Aistrue, but R is false.

{(4) Aisfalse, but R is true.

DSDES (A): rslhen - BOOMTE &S50 ILIIGET DSASID.

SS90 (R): 2009 5350238, 28 S BHS HFOH 0OSL T, 68, & @B TAHEZ
5605155 S'R &BS Beromres FSTIE FHES.

HOTS HAFES0 ©
(1) (A) 805D (R) BOLT DOTS, SHOAKD (R) $0 (A) SBTS DaS&ea.

(2) (A) O (R) Bodr QOTAR, $HBAW (R) H0 (A) SO DSSed 5°0.
3) (A SOEDIS, 5% (R) DO 570,

@)  (A) SOPDIL 5°CY, 5V (R) DOTIA.

After Operation Polo, Hyderabad armies surrendered to the Indian Union on 17 September, 1948.
Who among the following was the Chief of Nizam’s forces at that time ?

(1) General I.N. Choudhuri (2) Osman Ali Khan

(3) El Edroos (4) Philip M. Taylor

BIBVAS FS’ S0 58 TrBTTED S50 17 VR0 1948 &S 278 8 SoAF NS
D00’ Daro P8 & 180S DEYS) TOS T OHES 0 STFODITIE ?

(1) BIES BIS. X8 Q) eSS 8O S

3y 8.z . 4 9OD. Jo. Db

Who among the following was not connected with Telangana peasants armed struggle ?
(1) Amtla Ramacandra Reddy (2) Chandra Rajeswara Rao

(3) Konda Venkat Ranga Reddy (4) Devulapalli Venkateswara Rao
1808 8¢5’ Beromre BeErol FOSnS HForeIosS’ HooBSD B DS ?

(1) & oo B (2) Vol TEF S T

(8 . Sorr Sos&rSor 3G @) BHoHdD I05H¥ 8079

PPC-GS1
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188.

189.

190.

As there was a great demand from the Legislative Assembly of Telangana region for the
implementation of G.O. 610, the government under Chief Minister Chandra Babu Naidu
appointed a commission in 2001, What was this commission known as ?

(1)  Justice Bhargava Commission (2) J.P.L. Gwin Commission
(3) Girglani Commission (4) K. Achyut Reddy Commission

FISNES' Boornd TodS HHse AN §B8EDS% 2.4. To. 610 @HeD JAAHOD
2001S" @363 S0P§olS Ho(deran TOE 28 ENASDH IAHDOTH. & FHAsS
D0 ?

(D 290 279 IS (2) DS AS EHAS
9) ASTTR EDAS 4 3 ods B EDAS

In April 1969 the government appointed a committee to make suitable recommendations for
constitutional amendments to continue Mulki rules. Who was the Chairman of that committee ?

(1) Pingali Jaganmohan Reddy (2) Kumar Lalith
(3) G.N. Waghre (49) K.N. Wanchoo

1969 DS & WO JWoBS FINHTAE SiH TErsof ISBROD DI
ToHEIE (H2H 50 2.8 EDE DOHAODOB. &3 ¥ed ecdgE B3 ?

(1) Do 288 =S 36 2) 538 0dS
B) 2SI 4 B9 TFo®

Who among the following Telangana leaders undertook Satyagraha at Jantar Mantar in Delhi in
20127

(1) K. Chandra Sekhar Rao (2) Kishan Reddy
(3) Konda Laxman Bapuji (4) Kodanda Ram

2012 & & S0 2088 2088 3¢ SEYBro THELS Bororn T DK IS ?

(1) 3 SolB53pd o7 2 83858
(3) Somro¥isasy2 @ %08 oo

PPC-GS1
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192.

Assertion (A) : The seeds of the Telangana movement were sown at the time of the formation of

Andhara Pradesh in 1956_itscif.

Reason (R) : The political domination of Andhra ruling class gradually reduced the people of

Telangana to passive recipients.

The correct answer is :

(1) Both A and R are true and R is the correct explanation of A,

(2)  Both A and R are true, but R is not the correct explanation of A.

(3) Adstrue, but R is false.

(4) Ais false, but R is true.

DEIES (4): Boorm &GsErd8 1956 S eoBHET o1 edorso &F Daren
Sahadod.

820 (R) : sold Tadch Trabiven 8oES (Edhn Boorn Paod ISeo
(RE.500 IMdormr Srd)3008.

QORA A GFS0 _

(1) (A) D8 (R) Bods SBTO), HOAW (R) K0 (A) HDOTS JedBea.
(2)  (A) DBAW (R) Bochr BB, 5 (R) 30 (A) SO DS5Be 5°¢%.
(3)  (A) SORRD, 5% (R) QO .

4)  (ARODIE 5, 57 (R) QOIS

Telangana poets, artists, teachers and journalists formed the “Sahithi Mitra Mandali” (SMM) and
conducted a huge meeting in March 1997, Where was this meeting held ?
(1) Warangal (2) Karimnagar

(3) Bhuvanagiri (4) Khammam

BOOmRH ToOS Syew, ¥ s"den, eddsdiveny JBS Ssonsen OV “rare |

SHoGO” (SMM) @F HoPd IBYED 1997 Ird)S H) D& 20T, & O s
20005 ?

(1) SBoKS (2) 86o5ud
(3) 25300 4) 0




193. Match the following famous tanks with those who built them during the Kakatiya period.

List-I (Tanks) List-I1 (Builders)

a. Kesamudram i.  Mailamba

b. Ramappa Cheruvu ii. Prolarajul

¢. Ghanapur tank i, Ganapathi Deva

d. Bayyaram tank . iv. Recherla Rudra

SES AN S0 T3 1808 1H1Y BLHYew, 73D AB0DS 38 HES 28BS,

aDor-| @&ém) Do -11 (V80083 %)

a. ¥ OSw|g8m ? Dero

b. TN T ii. (ool

e IYE BHY iii. %e0Hd B3

d. 205ri80 T iv. B9 &I

The correct answer is : SO DSFLTS0
a b c d

(1 ii v i iii
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194. Which of the following was not a part of the six point formula that was signed in September

1973 ? _

(1) A state level Planning Board to be-constituted.

(2) A Central University to be established in Hyderabad.

(3)  Two separate High Courts to be established, one for Andhra another for Telangana.
(4) Local candidates to be given preference in appointments and promotions.

& (800 8S' DB 6 Jr@e HdsosS Bk ?

(1) 28 (D88 O DTV DOJTAY Vo™ TADSO.

(2) 28 BolHHADH DIINT LI, ST DS’ FDOSESO.

@) Bodk @-Q@m 2.8e3 eggéa. 28%e3 Boorwsy .‘Qo'_)e.n Sahiso.
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195.  Match the following organisations with the names of the founders.

List-1 (Organisations) List-11 (Founders)
a. Telangana NGO i.  Akula Bhumaiah
b. Telangana Study Circle ii. Ale Narendra
c. Telangana Ikya Vedika iii. Gade Innaiah
d. Telangana Sadhana Samithi iv. Amos K.R.
1808 HoQew, 38 FTHoDS TOS 2SHE DLW,
aDer-1 (Hoden) Der-11 (FHSoen)
a. 8OO .25, i el Frdaby
b. Booms §b 56,5 i. &3 3Bod
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d. 8eorrs S Hed iv. 3.8, 3rD

The correct answer is : DO DTGNS0
a b c d
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196. Match the following Jataras with their places.

List-1 (Jatara) List-I1 (Place)

a. Nagoba Jatara : l.  Mutyampeta

b. Edupayala Jatara - ii.  Kesalapur

¢. Sammakka, Saralakka Jatara iii. Medaram

d. Kondagattu Anjanna Jatara iv. Nagasanipalle

800 Boorre 2réded e 35 PBETOSE 2858w,

B Der-1 (208 5) aNer-11 (Po0o)

8. TR S L S50 Tk

b. drche e ii. IYrd
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d. Sodity wozd) 2SS ‘ iv. U HS

The correct answer is : SOPS DATGTS0 :
a b c d
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Who is the presiding deity in the thousand pillar temple at Hanumakonda ?

(1) Nameswara (2) Someswara

(3) Rudreswara (4) Bhimeswara
FOOF0H S Jow Vogre HAS' Ko e DTEY I3 ?
() 0¥ Q) i

() SOBHsSch (4) DDA %MW

During the Kakatiya period, lands were of several divisions. What were the *Acchu Kattu lands® ?

(1) Drylands (2) ' Irrigated lands

(3) Garden lands (4) Pasture lands |

SESOL 500 Zrdnen eFE DareniT JOTD. ‘edy E&P Srsnen” edm I ?
() & Prswen (2) JABIBH&e Koy 25rdwen

(3) & rdnewn @) D Frdwen

Which among the following places was famous for diamond polishing during the Qutub Shahi
period ?

(1) Karwan (2) Kurnool
(3) Guntur (4) Masulipatnam

S0l I SO0S Seren FIBLES (S2re SHAS) & 1808 HEToS O (H1O
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The mscriptions issued by Naganika speak of the Aswamedha and Rajasuya sacrifices conducted
by a Sathavahana king. Who among the following was that king ?

(1) Simukha (2) Sathakarni [

(3)  Apilaka (4} Hala
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